
S1 
 

Supporting Information 

 

 Intramolecular Friedel–Crafts Acylation Reaction Promoted by 1,1,1,3,3,3-Hexafluoroisopropanol  

Hashim F. Motiwala, Rakesh H. Vekariya, and  Jeffrey Aubé 

Department of Medicinal Chemistry, University of Kansas, Delbert M. Shankel Structural Biology 

Center, 2034 Becker Drive, Lawrence, Kansas 66047, United States 

Email: jaube@unc.edu 

 

Table of Contents 

General Information  S2 

Experimental Procedures for Control Experiments to Probe Mechanism  S3 

Syntheses of New Compounds S7 

General Procedure C for the Friedel–Crafts Reaction in HFIP  S28 

Table S1: Comparison of the Product Yields Obtained from the Present Work with Those  

Previously Reported in the Literature S46 

References S51 

Copies of 1H and 13C NMR spectra  

Acid Precursors S56 

Newly reported ketones S92 

Previously reported ketones S118 

 

 

 

 

 

 

 

  



S2 
 

General Information  

Reactions were performed under an inert atmosphere (argon, Ar or nitrogen, N2) either in flame-dried or 

oven-dried glassware, or glass sample vial with rubber-lined cap. The stainless steel needles used for 

handling anhydrous solvents and reagents were oven dried and flushed with N2 prior to use. Plastic 

syringes were flushed with N2 before use. All chemicals were used as received from commercial source, 

without further purification. Dichloromethane (DCM) and tetrahydrofuran (THF) were dried by passage 

through neutral alumina columns using a commercial solvent purification system prior to use. Thin-layer 

chromatography (TLC) was performed using commercial glass-backed silica plates (250 microns) with an 

organic binder. Visualization was accomplished with UV light. Flash chromatography was carried out on 

a normal or reverse phase CombiFlash® purification system (4, 12, or 24 g normal phase silica flash 

columns or 50 g HP C18 Gold column were used). Infrared (IR) spectra were acquired as thin films or 

solids. All nuclear magnetic resonance (NMR) spectra (1H, 13C, APT, COSY, HSQC, HMBC, and 

NOESY) were recorded on either a 400 MHz or a 500 MHz with a dual carbon/proton cryoprobe 

instrument. NMRs were recorded in deuterated solvents (chloroform, dimethyl sulfoxide, or methylene 

chloride). Chemical shifts are reported in parts per million (ppm) and are referenced to the center line of 

the solvent (δ 7.26, 2.50, and 5.32 ppm with respect to CDCl3, DMSO-d6, and CD2Cl2 for 1H NMR and δ 

77.23, 39.52, and 53.84 ppm with respect to CDCl3, DMSO-d6, and CD2Cl2 for 13C NMR, respectively). 

Coupling constants are given in Hertz (Hz). HRMS data were collected with a LCT Premier time-of-flight 

mass spectrometer and an electrospray ion source (ESI). Melting points were determined on an automated 

melting point apparatus and are uncorrected. Sample concentrator using N2 gas was utilized for the 

concentration of reaction mixtures.  

 

4-(3,4-Dimethoxyphenyl)butanoic acid 1a, 4-(2-thienyl)butyric acid 1e, 3-(2-naphthylthio)propionic acid 

1l, α-phenyl-o-toluic acid 1o, 2-phenoxybenzoic acid 1r, 3-(3-thienyl)propanoic acid 1ac, 3-(1-methyl-

1H-indol-3-yl)propanoic acid 1ad, and 1,1'-biphenyl]-2-carboxylic acid 1al were commercially 

purchased.  

 

 

 

 

 

 

 

 



S3 
 

Experimental Procedures for Scheme 2 (Control Experiments to Probe Mechanism) 

 
(a) Reaction of 4a with acetyl chloride in HFIP: 

To a solution of 1,1,1,3,3,3-hexafluoropropan-2-yl 4-(3,4-dimethoxyphenyl)butanoate 4a (37.3 mg, 0.100 

mmol, 1.0 equiv) in HFIP (0.25 mL) in a flame-dried N2-flushed 1 dram vial at rt was added acetyl 

chloride (7.79 µL, 0.110 mmol, 1.1 equiv) and the resulting reaction mixture was stirred at rt for 1.5 h. No 

reaction was observed and crude 1H NMR only showed peaks corresponding to 4a. 

 

 
 

(b) Reaction of 2a with 1 equiv of HFIP in DCM: 

Procedure (Step-1): Following the general procedure A for Step-1, 4-(3,4-dimethoxyphenyl)butanoic 

acid 1a (67.3 mg, 0.300 mmol, 1.0 equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min.  

Procedure (Step-2): 

To a solution of the crude acid chloride 2a in anhydrous DCM (1.5 mL) in a capped vial at rt was added 

HFIP (31.6 µL, 0.300 mmol, 1.0 equiv) using a microsyringe and the resultant reaction mixture was 

stirred at rt for 1.5 h. Reaction mixture was concentrated under N2 and the resulting residue was dissolved 

in a minimum quantity of DCM and loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 4 g normal phase silica flash column (0–40% EtOAc/hexanes 

over 20 min) afforded 3a (43.8 mg, 71%) as a colorless solid.  

 

  



S4 
 

 
(c) Reaction of 2a with 1 equiv of HCl in DCM: 

Procedure (Step-1): Following the general procedure A for Step-1, 4-(3,4-dimethoxyphenyl)butanoic 

acid 1a (67.3 mg, 0.300 mmol, 1.0 equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min.  

Procedure (Step-2): 

To a solution of the crude acid chloride 2a in anhydrous DCM (1.5 mL) at rt was added hydrogen 

chloride (4.0 M solution in dioxane) (75.0 µL, 0.300 mmol, 1.0 equiv) and the resultant reaction mixture 

was stirred at rt for 1.5 h. Reaction mixture was partially concentrated under N2 and the resulting solution 

including the rinsings in DCM was loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 12 g normal phase silica flash column (0–60% EtOAc/hexanes 

over 30 min) afforded 3a (26.0 mg, 42%) as a colorless solid. Acid 1a was recovered in 44% yield (29.9 

mg) as a colorless solid. 

 

 
 (d) Reaction of 2a in the presence of a proton scavenger, DTBMP: 

Procedure (Step-1): Following the general procedure A for Step-1, 4-(3,4-dimethoxyphenyl)butanoic 

acid 1a (67.3 mg, 0.300 mmol, 1.0 equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min.  

Procedure (Step-2): 

To the same 2-dram vial containing the crude acid chloride intermediate 2a at rt was added anhydrous 

DCM (1.2 mL) followed by the addition of 2,6-di-tert-butyl-4-methylpyridine (DTBMP; 61.6 mg, 0.300 

mmol, 1.0 equiv). To the resulting suspension was added HFIP (0.30 mL) and the reaction mixture was 

stirred at rt for 1.5 h. Reaction mixture was concentrated under N2 and the residue obtained was 

redissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a Combiflash 



S5 
 

purification system using a 12 g normal phase silica flash column (0–30% EtOAc/hexanes over 30 min) 

afforded 3a as an off-white solid (18.5 mg, 30%) and 4a as a colorless oil (74.5 mg, 66%).  

In a similar way as described above for Step-2, when 0.50 equiv DTBMP (30.8 mg, 0.150 mmol) was 

used, 3a (44.2 mg, 71%) was isolated as an off-white solid and 4a (25.0 mg, 22%) was obtained as a 

colorless oil.   

 

 
(e) Reaction of 2a in the presence of pyridine: 

Procedure (Step-1): Following the general procedure B for Step-1, 4-(3,4-dimethoxyphenyl)butanoic 

acid 1a (22.4 mg, 0.100 mmol, 1.0 equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a 

using oxalyl chloride (16.9 µL, 0.200 mmol, 2.0 equiv) in 15 min.  

Procedure (Step-2): 

To the same 1 dram vial containing the crude acid chloride intermediate 2a at rt was added anhydrous 

DCM (0.25 mL) followed by the addition of pyridine (16.2 µL, 0.200 mmol, 2.0 equiv). To the resulting 

solution was added HFIP (0.25 mL) and the reaction mixture was stirred at rt for 4 h. Reaction mixture 

was concentrated under N2 and the resulting residue was dissolved in a minimum quantity of DCM and 

loaded on a silica gel in a sample cartridge. Purification on a Combiflash purification system using a 4 g 

normal phase silica flash column (0–15% EtOAc/hexanes over 15 min) afforded 1,1,1,3,3,3-

hexafluoropropan-2-yl 4-(3,4-dimethoxyphenyl)butanoate 4a (35.4 mg, 95%) as a colorless oil. TLC 

(30% EtOAc/hexanes): Rf = 0.76; 1H NMR (400 MHz, CDCl3): δ 6.80 (d, J = 7.9 Hz, 1H), 6.68–6.72 (m, 

2H), 5.79 (hept, J = 6.2 Hz, 1H), 3.87 (s, 3H), 3.86 (s, 3H), 2.62 (t, J = 7.5 Hz, 2H), 2.52 (t, J = 7.4 Hz, 

2H), 2.00 (p, J = 7.4 Hz, 2H); 13C NMR (101 MHz, CDCl3): δ 170.4, 149.3, 147.8, 133.4, 120.5, 116.4–

124.9 (m, 2C), 112.0, 111.6, 66.6 (p, J = 34.7 Hz, 1C), 56.1, 56.0, 34.5, 32.6, 26.5; IR (neat) 1779, 1516, 

1196, 1106 cm–1; HRMS (ESI) m/z calcd for C15H16F6O4 [M + H]+: 375.1031, found: 375.1022. 

 

  



S6 
 

 
(f) Reaction of 2a in the presence of a strong hydrogen bond acceptor, Ph3PO: 

Procedure (Step-1): Following the general procedure A for Step-1, 4-(3,4-dimethoxyphenyl)butanoic 

acid 1a (67.3 mg, 0.300 mmol, 1.0 equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min.  

 

Procedure (Step-2 with 9.5 Equiv of HFIP and 3.0 Equiv of Ph3PO) 

To the same 2 dram vial containing the crude acid chloride intermediate 2a at rt was added anhydrous 

DCM (1.2 mL) followed by the addition of triphenylphosphine oxide (Ph3PO; 251 mg, 0.900 mmol, 3.0 

equiv). To the resulting solution was added HFIP (0.300 mL, 2.85 mmol, 9.5 equiv) and the reaction 

mixture was stirred at rt for 1.5 h. Reaction mixture was concentrated under N2 and the residue obtained 

was dissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a Combiflash 

purification system using a 12 g normal phase silica flash column (0–40% EtOAc/hexanes over 20 min) 

afforded 3a (59.3 mg, 96%) as a very pale yellow solid.  

 

Procedure (Step-2 with 5.0 Equiv of HFIP and 6.0 Equiv of Ph3PO) 

To the same 2 dram vial containing the crude acid chloride intermediate 2a at rt was added anhydrous 

DCM (1.34 mL) followed by the addition of Ph3PO (501 mg, 1.80 mmol, 6.0 equiv). To the resulting 

solution was added HFIP (0.158 mL, 1.50 mmol, 5.0 equiv) and the reaction mixture was stirred at rt for 

1.5 h. Reaction mixture was concentrated under N2 and the residue obtained was dissolved in DCM and 

loaded on a silica gel in a sample cartridge. Purification on a Combiflash purification system using a 12 g 

normal phase silica flash column (0–60% EtOAc/hexanes over 30 min) afforded 3a (4.00 mg, 6%) as a 

colorless solid. Acid 1a was recovered in 73% yield (49.3 mg; corrected yield based on ca. 93% purity) as 

a colorless solid. 

 

 

 

 

 

 



S7 
 

Syntheses of new compounds 

 

 
4-(3,5-Dimethoxyphenyl)butanoic acid (1b):1  

To a cooled solution of (2-carboxyethyl)triphenylphosphonium bromide (1.50 g, 3.60 mmol, 1.2 equiv) in 

DCM (5.0 mL) at 0 °C under N2 atmosphere was added 3,5-dimethoxybenzaldehyde (0.500 g, 3.00 mmol, 

1.0 equiv). To the resulting mixture, potassium tert-butoxide (0.840 g, 7.50 mmol, 2.5 equiv) was added 

portion wise and the reaction mixture was allowed to stir at rt for 12 h. The reaction was quenched with 

water and DCM layer was separated and discarded. The aqueous layer was acidified with 1 M HCl to pH 

1 and extracted with EtOAc (10 mL × 3). The combined organic layers were washed with water (10 mL × 

1), brine once, dried over Na2SO4, and concentrated. Purification on a Combiflash purification system 

using a silica flash column (70:30 hexanes/EtOAc) afforded (E)-4-(3,5-dimethoxyphenyl)but-3-enoic acid 

9b2 (0.153 g, 23%) as a colorless solid.  

To a solution of compound 9b (0.152 g, 0.680 mmol) in EtOAc (2.0 mL) under Ar atmosphere was added 

10% of palladium(II) carbon (15.0 mg, 10 wt%) followed by EtOH (6.0 mL). The reaction mixture was 

evacuated under vacuum and flushed with hydrogen (H2; 3 cycles) and was continued to stir under H2 

atmosphere at rt for 1 h. The reaction mixture was filtered through a pad of celite followed by EtOH 

rinsings. Solvent evaporation afforded 1b (0.142 g, 93%) as a colorless solid.  

 

 
4-(3,5-Dimethylphenyl)butanoic acid (1c): 

Following the procedure described for compound 1b, 3,5-dimethylbenzaldehyde (1.00 g, 7.45 mmol, 1.0 

equiv) was reacted with (2-carboxyethyl)triphenylphosphonium bromide (3.71 g, 8.94 mmol, 1.2 equiv) 

in the presence of potassium tert-butoxide (2.09 g, 18.6 mmol, 2.5 equiv) to afford (E)-4-(3,5-

dimethylphenyl)but-3-enoic acid 9c (0.475 g, 33%) as a colorless oil. TLC (50% EtOAc/Hexanes): Rf = 

0.30; 1H NMR (400 MHz, CDCl3) δ 7.00 (dd, J = 1.7, 0.9 Hz, 2H), 6.93–6.84 (m, 1H), 6.46 (dt, J = 15.8, 

1.4 Hz, 1H), 6.25 (dt, J = 15.9, 7.1 Hz, 1H), 3.28 (dd, J = 7.1, 1.4 Hz, 2H), 2.30 (d, J = 0.8 Hz, 6H); 13C 

NMR (101 MHz, CDCl3) δ 177.2, 138.2 (2C), 136.8, 134.4, 129.6, 124.4 (2C), 120.6, 38.1, 21.4 (2C); IR 

(neat) 3700–2300, 1755 cm–1; HRMS (ESI) m/z calcd for C12H15O2 [M + H]+: 191.1072, found: 191.1043. 



S8 
 

Compound 9c (0.420 g, 2.21 mmol) was then reduced with palladium(II) carbon (0.0420 g, 10 wt%) 

under H2 atmosphere to afford 1c (0.400 g, 94%) as a colorless solid. Mp: 61–62 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.50; 1H NMR (400 MHz, CDCl3) δ 6.84 (d, J = 1.8 Hz, 1H), 6.82–6.77 (m, 2H), 

2.65–2.55 (m, 2H), 2.38 (t, J = 7.5 Hz, 2H), 2.29 (d, J = 0.8 Hz, 6H), 1.95 (p, J = 7.5 Hz, 2H); 13C NMR 

(101 MHz, CDCl3) δ 180.0, 141.3, 138.1 (2C), 127.9, 126.5 (2C), 35.1, 33.6, 26.4, 21.5 (2C); IR (neat) 

3400–2300, 1687 cm–1; HRMS (ESI) m/z calcd for C12H17O2 [M + H]+: 193.1229, found: 193.1213. 

 

 
3-(4,7-Dimethoxynaphthalen-1-yl)propanoic acid (1d):  

Following a modification of the literature procedure,3 3-(4,7-dimethoxynaphthalen-1-yl)propanoic acid 

1d was prepared from 4,7-dimethoxy-1-naphthaldehyde in the following manner: 

To a suspension of sodium hydride (60% dispersion in mineral oil) (72.0 mg, 1.80 mmol, 1.2 equiv; 

washed with hexanes once) in anhydrous THF (4.0 mL) in a flame-dried RBF at rt under Ar was added a 

solution of triethyl phosphonoacetate (403 mg, 1.80 mmol, 1.2 equiv) in anhydrous THF (1.5 mL, 

including the washings) slowly over 5 min (effervescence was observed). The resulting solution was 

stirred at rt for 30 min. A solution of 4,7-dimethoxy-1-naphthaldehyde (324 mg, 1.50 mmol, 1.0 equiv) in 

anhydrous THF (2.5 mL, including the washings) was added slowly to the reaction mixture over 15 min 

and the stirring was continued at rt for 2 h. Some unreacted 4,7-dimethoxy-1-naphthaldehyde was 

observed by TLC, so additional sodium hydride (24.0 mg, 0.600 mmol, 0.40 equiv) and triethyl 

phosphonoacetate (101 mg, 0.450 mmol, 0.30 equiv) was directly added into the reaction mixture and the 

reaction mixture was continued to stir at rt for another 1 h. Reaction mixture was concentrated, diluted 

with water (30 mL), and extracted with ether (25 mL × 2). The combined organic layers were washed 

with brine (30 mL × 1), dried over Na2SO4, and concentrated to afford 429 mg of crude Intermediate A 



S9 
 

[(E)-ethyl 3-(4,7-dimethoxynaphthalen-1-yl)acrylate] as a semisolid residue, which was used as such for 

the next hydrogenation step.  

To a solution of the crude Intermediate A (429 mg) in ethanol (8.0 mL) under N2 was added 10% of 

palladium(II) carbon (43.1 mg, 0.405 mmol, 10 wt%). The resulting suspension was evacuated under 

vacuum and flushed with H2 twice and was continued to stir under H2 atmosphere at rt for 3.5 h. The 

reaction mixture was filtered through a Celite bed followed by ether rinsings. Solvent evaporation 

afforded crude Intermediate B [(ethyl 3-(4,7-dimethoxynaphthalen-1-yl)propanoate] as an oily residue, 

which was used as such for the next saponification step. 

To a solution of Intermediate B in THF (4.0 mL) at rt in an open-flask was added sodium hydroxide (2.0 

M solution in deionized water; 6.00 mL, 12.00 mmol, 8.0 equiv) and the resulting biphasic solution was 

stirred at rt for 12 h. Reaction mixture was acidified with 1.0 M aqueous HCl with stirring until acidic 

(pH = 1) and the resulting aqueous suspension was extracted with DCM (25 mL × 2). The combined 

organic layers were dried over Na2SO4 and concentrated to give a creamish-orange solid. The solid was 

suspended in DCM and loaded on a silica gel in a sample cartridge. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–5% MeOH/DCM over 25 min) afforded 1d (347 

mg, 89% over 3 steps) as a creamish solid. Mp: 148.5–150 °C; TLC (30% EtOAc/hexanes): Rf = 0.21; 1H 

NMR (400 MHz, DMSO-d6) δ 12.16 (brs, 1H), 8.10 (d, J = 9.2 Hz, 1H), 7.27 (d, J = 2.4 Hz, 1H), 7.24 (d, 

J = 7.9 Hz, 1H), 7.15 (dd, J = 9.2, 2.5 Hz, 1H), 6.73 (d, J = 7.9 Hz, 1H), 3.91 (s, 3H), 3.90 (s, 3H), 3.17 (t, 

J = 7.5 Hz, 2H), 2.61 (t, J = 7.6 Hz, 2H); 13C NMR (101 MHz, DMSO-d6) δ 174.0, 157.8, 153.8, 133.4, 

127.4, 126.4, 123.8, 120.1, 116.6, 102.7, 101.9, 55.3, 55.1, 34.4, 27.1; IR (neat) 3350–2350, 1710, 1692 

cm–1; HRMS (ESI) m/z calcd for C15H17O4 [M + H]+: 261.1127, found: 261.1118. 

 

 
4-(Thiophen-3-yl)butanoic acid (1f):  

Following the procedure described for compound 1b, 3-thiophenecarboxaldehyde (1.00 g, 8.92 mmol, 1.0 

equiv) was reacted with (2-carboxyethyl)triphenylphosphonium bromide (4.44 g, 10.7 mmol, 1.2 equiv) 

in the presence of potassium tert-butoxide (2.50 g, 22.3 mmol, 2.5 equiv) to afford (E)-4-(thiophen-3-

yl)but-3-enoic acid 9f4 (0.375 g, 26%) as a golden brown solid. Mp: 90–92 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 7.29–7.25 (m, 1H), 7.21 (dd, J = 5.1, 1.3 Hz, 

1H), 7.14 (dd, J = 3.0, 1.3 Hz, 1H), 6.53 (dt, J = 15.9, 1.5 Hz, 1H), 6.13 (dt, J = 15.8, 7.2 Hz, 1H), 3.26 

(dd, J = 7.1, 1.5 Hz, 2H); 13C NMR (101 MHz, CDCl3) δ 177.5, 139.5, 128.4, 126.3, 125.2, 122.3, 120.9, 



S10 
 

38.0; IR (neat) 3400–2100, 1705 cm–1; HRMS (ESI) m/z calcd for C8H9O2S [M + H]+: 169.0323, found: 

169.0309. 

Compound 9f (0.357 g, 2.12 mmol) was then reduced with palladium(II) carbon (0.0357 g, 10 wt%) 

under H2 atmosphere to afford 1f (0.360 g, 99%) as a colorless oil. TLC (50% EtOAc/Hexanes): Rf = 

0.60; 1H NMR (400 MHz, CDCl3) δ 7.28–7.24 (m, 1H), 6.95 (ddt, J = 8.0, 4.3, 2.2 Hz, 2H), 2.71 (t, J = 

7.5 Hz, 2H), 2.49–2.26 (m, 2H), 1.97 (p, J = 7.4 Hz, 2H); 13C NMR (101 MHz, CDCl3) δ 179.2, 141.7, 

128.3, 125.7, 120.8, 33.5, 29.6, 25.7; IR (neat) 3500–2300, 1700 cm–1; HRMS (ESI) m/z calcd for 

C8H11O2S [M + H]+: 171.0480, found: 171.0463. 

 

 
4-(Benzo[b]thiophen-3-yl)butanoic acid (1g):5 

Following the procedure described for compound 1b, thianaphthene-3-carboxaldehyde (1.00 g, 6.16 

mmol, 1.0 equiv) was reacted with (2-carboxyethyl)triphenylphosphonium bromide (3.07 g, 7.39 mmol, 

1.2 equiv) in the presence of potassium tert-butoxide (1.73 g, 15.4 mmol, 2.5 equiv) to afford (E)-4-

(benzo[b]thiophen-3-yl)but-3-enoic acid 9g (0.550 g, 41%) as an orange solid. Mp: 93–95 °C; TLC (50% 

EtOAc/hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 7.94–7.81 (m, 2H), 7.44 (s, 1H), 7.43–7.33 (m, 

2H), 6.80 (dq, J = 15.9, 1.3 Hz, 1H), 6.37 (dt, J = 15.9, 7.1 Hz, 1H), 3.38 (dd, J = 7.2, 1.5 Hz, 2H); 13C 

NMR (101 MHz, CDCl3) δ 176.1, 140.7, 137.8, 133.6, 126.6, 124.7, 124.5, 123.1, 122.9, 122.5, 122.1, 

38.3; IR (neat) 3300–2200, 1681 cm–1; HRMS (ESI) m/z calcd for C12H11O2S [M + H]+: 219.0480, found: 

219.0465. 

Compound 9g (0.424 g, 1.94 mmol) was then reduced with palladium(II) carbon (0.0424 g, 10 wt%) 

under H2 atmosphere to afford 1g (0.354 g, 83%) as a colorless solid. 

 

 
4-(Benzofuran-2-yl)butanoic acid (1h):6  

Following the procedure described for compound 1b, 2-benzofurancarboxaldehyde (1.00 g, 6.84 mmol, 

1.0 equiv) were reacted with (2-carboxyethyl)triphenylphosphonium bromide (3.41 g, 8.21 mmol, 1.2 

equiv) in the presence of potassium tert-butoxide (1.92 g, 17.1 mmol, 2.5 equiv) to afford impure (E)-4-

(benzofuran-2-yl)but-3-enoic acid 9h (0.450 g, 33%; >85% pure as determined by 1H NMR) as a yellow 



S11 
 

solid. Mp: 110–112 °C; TLC (50% EtOAc/hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 7.51 (ddd, 

J = 7.6, 1.4, 0.7 Hz, 1H), 7.46–7.41 (m, 1H), 7.28–7.41 (m, 1H), 7.19 (td, J = 7.5, 1.0 Hz, 1H), 6.60–6.44 

(m, 3H), 3.35 (d, J = 6.3 Hz, 2H); 13C NMR (101 MHz, CDCl3) δ 176.5, 155.0, 154.1, 129.0, 124.8, 

123.2, 123.0, 122.7, 121.1, 111.2, 104.8, 37.9; IR (neat) 3400–2100, 1687 cm–1; HRMS (ESI) m/z calcd 

for C12H9O3 [M – H]–: 201.0552, found: 201.0556. 

Compound 9h (0.300 g, 1.48 mmol; impure) was then reduced with palladium(II) carbon (0.0300 g, 10 

wt%) under H2 atmosphere to afford 1h (0.235 g, 78%) as a colorless solid. Mp: 76–78 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.50; 1H NMR (400 MHz, CDCl3) δ 7.53–7.46 (m, 1H), 7.44–7.39 (m, 1H), 7.25–

7.12 (m, 2H), 6.43 (d, J = 0.9 Hz, 1H), 2.86 (t, J = 7.1 Hz, 2H), 2.47 (t, J = 7.4 Hz, 2H), 2.10 (p, J = 7.4 

Hz, 2H); 13C NMR (101 MHz, CDCl3) δ 179.1, 158.1, 155.0, 129.0, 123.6, 122.7, 120.5, 111.0, 102.9, 

33.2, 27.8, 22.9; IR (neat) 3400–2300, 1692 cm–1; HRMS (ESI) m/z calcd for C12H11O3 [M – H]–: 

203.0708, found: 203.0709. 

 

 
3-Phenoxypropanoic acid (1i):7 

To a solution of phenol (0.500 g, 5.30 mmol, 1.0 equiv) and 3-bromopropionic acid (0.810 mg, 5.30 

mmol, 1.0 equiv) in DMF (5.0 mL) at rt under Ar atmosphere was added Cs2CO3 (3.46 g, 10.6 mmol, 2.0 

equiv) and the resulting suspension was continued to stir at rt for 15 h. The reaction mixture was 

quenched with 1 M HCl to pH 1 and the aqueous layer was extracted with EtOAc (10 mL × 3). The 

combined organic layers were washed with water (10 mL × 1), brine once, dried over Na2SO4, and 

concentrated. Purification on a Combiflash purification system using a silica flash column (80:20 

hexanes/EtOAc) afforded 1i (0.148 g, 17%) as a colorless solid.  

 

 
3-((2,5-Dimethoxyphenyl)thio)propanoic acid (1j): 

Following a reported procedure,8 to a suspension of 3-bromopropanoic acid (225 mg, 1.47 mmol, 1.05 

equiv) in deionized water (5.0 mL) at rt was added anhydrous sodium carbonate (163 mg, 1.54 mmol, 1.1 

equiv) slowly. After the effervescence ceased, the clear solution was cooled to ca. 5–10 °C and this cold 

solution was added to a turbid solution of 2,5-dimethoxybenzenethiol (238 mg, 1.40 mmol, 1.0 equiv) in 



S12 
 

sodium hydroxide (84.0 mg, 2.10 mmol, 1.5 equiv) and deionized water (3.0 mL) at rt in a big microwave 

vial (10–20 mL capacity). The vial was sealed and the resulting turbid solution was stirred at refluxing 

temperature (100–105 °C) for 1.5 h. Reaction mixture was cooled to rt and extrated with EtOAc (30 mL × 

1) and the EtOAc layer was discarded. The aqueous layer was acidified with 2 M aqueous HCl solution 

(10 mL) and the resulting turbid solution was extrated with DCM (25 mL × 3). The combined organic 

layers were washed with brine (30 mL × 1), dried over Na2SO4, and concentrated. The oil obtained was 

redissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–50% EtOAc/hexanes over 25 min) afforded 1j 

(257 mg, 76%) as a colorless crystalline solid. Mp: 100–102 °C; TLC (50% EtOAc/hexanes): Rf = 0.37; 
1H NMR (400 MHz, CDCl3) δ 10.84 (brs, 1H), 6.91 (d, J = 2.9 Hz, 1H), 6.80 (d, J = 8.9 Hz, 1H), 6.74 

(dd, J = 8.9, 2.9 Hz, 1H), 3.84 (s, 3H), 3.77 (s, 3H), 3.14 (t, J = 7.4 Hz, 2H), 2.68 (t, J = 7.4 Hz, 2H); 13C 

NMR (101 MHz, CDCl3) δ 178.2, 153.8, 152.4, 124.1, 117.1, 112.4, 111.8, 56.4, 55.9, 34.2, 27.1; IR 

(neat) 3670–2380, 1707 cm–1; HRMS (ESI) m/z calcd for C11H15O4S [M + H]+: 243.0691, found: 

243.0666. 

 

 
3-((3-Methoxyphenyl)thio)-3-phenylpropanoic acid (1k):  

Following a modification of the reported procedure,9 to a mixture of 3-methoxybenzenethiol (421 mg, 

3.00 mmol, 2.0 equiv) and trans-cinnamic acid (223 mg, 1.50 mmol, 1.0 equiv) in a dried N2-flushed 2 

dram vial at rt was added 1.0 M solution of tetrabutylammonium fluoride in THF (0.751 mL, 0.751 

mmol, 0.50 equiv) . The vial was capped and the resulting suspension was stirred at 50 °C under N2 for 6 

h (most of the THF was evaporated within 2 h). Reaction mixture was dissolved in a minimum quantity of 

DCM and loaded on a silica gel in a sample cartridge. Purification on a Combiflash purification system 

using a 12 g silica flash column (0–30% EtOAc/hexanes over 30 min) afforded 1k (272 mg, 63%) as a 

colorless solid. Mp: 81–83 °C; TLC (25% EtOAc/hexanes, run twice): Rf = 0.32; 1H NMR (400 MHz, 

CDCl3) δ 10.64 (brs, 1H), 7.26–7.17 (complex, 5H), 7.11 (m, 1H), 6.88 (m, 1H), 6.76–6.72 (m, 2H), 4.59 

(dd, J = 8.0, 7.2 Hz, 1H), 3.65 (s, 3H), 2.94 (m, 2H); 13C NMR (101 MHz, CDCl3) δ 177.0, 159.8, 140.4, 

134.7, 129.8, 128.7 (2C), 127.9 (3C), 125.6, 118.3, 114.4, 55.4, 48.7, 40.8; IR (neat) 3500–2400, 1707 

cm–1; HRMS (ESI) m/z calcd for C16H17O3S [M + H]+: 289.0898, found: 289.0881. 

 

 

 



S13 
 

 
3-((3,4-Dimethylphenyl)thio)-2,2-dimethylpropanoic acid (1m):  

Following a reported procedure,8 to a suspension of 3-chloro-2,2-dimethylpropanoic acid (215 mg, 1.58 

mmol, 1.05 equiv) in deionized water (5.0 mL) at rt was added anhydrous sodium carbonate (175 mg, 

1.65 mmol, 1.1 equiv) slowly. After the effervescence ceased, the clear solution was cooled to ca. 5–10 

°C and this cold solution was added to a turbid solution of 3,4-dimethylbenzenethiol (207 mg, 1.50 mmol, 

1.0 equiv) in sodium hydroxide  (90.0 mg, 2.25 mmol, 1.5 equiv) and deionized water (3.0 mL) at rt in a 

big microwave vial. The vial was sealed and the resulting turbid solution was stirred at refluxing 

temperature (100–105 °C) for 1.5 h. Reaction mixture was cooled to rt and acidified with 2 M aqueous 

HCl solution (10 mL). The resulting suspension was extrated with DCM (25 mL × 3). The combined 

organic layers were washed with brine (30 mL × 1), dried over Na2SO4, and concentrated. The oil 

obtained was dissolved in hexanes containing a small amount of DCM and the solution was loaded on a 

silica gel in a sample cartridge. Purification on a Combiflash purification system using a 12 g silica flash 

column (0–20% EtOAc/hexanes over 40 min) afforded 1m (330 mg, 92%) as an almost colorless 

crystalline solid. Mp: 70–71.5 °C; TLC (30% EtOAc/hexanes): Rf = 0.51; 1H NMR (400 MHz, CDCl3) δ 

11.66 (brs, 1H), 7.20 (s, 1H), 7.15 (dd, J = 7.8, 1.9 Hz, 1H), 7.04 (d, J = 7.8 Hz, 1H), 3.16 (s, 2H), 2.23 

(d, J = 4.0 Hz, 6H), 1.31 (s, 6H); 13C NMR (101 MHz, CDCl3) δ 183.5, 137.4, 135.3, 133.7, 132.1, 130.3, 

128.4, 45.4, 44.2, 24.8 (2C), 19.9, 19.5; IR (neat) 3400–2300, 1693 cm–1; HRMS (ESI) m/z calcd for 

C13H19O2S [M + H]+: 239.1106, found: 239.1080. 

 

 
Rel-(1S,2S)-2-((3,4-Dimethoxyphenyl)thio)cyclohexanecarboxylic acid (1n):  

Following a modification of the reported procedure,9 to a mixture of 3,4-dimethoxybenzenethiol (511 mg, 

3.00 mmol, 2.0 equiv) and 1-cyclohexene-1-carboxylic acid (189.2 mg, 1.500 mmol, 1.0 equiv) in a dried 

N2-flushed 2 dram vial at rt was added 1.0 M solution of tetrabutylammonium fluoride in THF (0.750 mL, 

0.750 mmol, 0.50 equiv). The vial was capped and the resulting solution was stirred at 50 °C under N2 for 

1 h. Reaction mixture was dissolved in a minimum quantity of DCM and loaded on a silica gel in a 

sample cartridge. Purification on a Combiflash purification system using a 12 g silica flash column (0–2% 

MeOH/DCM over 40 min) afforded impure 1n as a colorless solid. Recrystallization of the solid from 



S14 
 

DCM/hexanes mixture (solid was dissolved in a minimum quantity of DCM and then hexanes was added 

till the solution became slightly turbid) afforded pure 1n (275 mg, 62%) as a colorless crystalline solid  

after filtration and drying under vacuum. Mp: 111.5–113.5 °C; TLC (2% MeOH/DCM): Rf = 0.22; 1H 

NMR (400 MHz, CDCl3) δ 11.63 (brs, 1H), 7.06 (dd, J = 8.2, 2.1 Hz, 1H), 7.02 (d, J = 2.0 Hz, 1H), 6.76 

(d, J = 8.3 Hz, 1H), 3.85 (s, 3H), 3.84 (s, 3H), 3.59 (m, 1H), 2.79 (m, 1H), 2.00 (m, 1H), 1.88–1.76 

(complex, 4H), 1.69 (m, 1H), 1.50 (m, 1H), 1.36–1.24 (m, 1H); 13C NMR (101 MHz, CDCl3) δ 179.6, 

149.2, 149.1, 126.8, 126.5, 117.1, 111.6, 56.13, 56.08, 51.0, 46.8, 31.4, 24.6, 24.3, 21.8; IR (neat) 3450–

2350, 1703 cm–1; HRMS (ESI) m/z calcd for C15H21O4S [M + H]+: 297.1161, found: 297.1141. 

 

 
4-(3-Methyl-1H-indol-1-yl)butanoic acid (1p):10  

Following the literature procedure,10 3-methylindole (0.200 g, 1.52 mmol, 1.0 equiv) was reacted with γ-

butyrolactone (0.262 g, 3.05 mmol, 2.0 equiv) in the presence of sodium hydride (60% dispersion in 

mineral oil) (0.122 g, 3.05 mmol, 2.0 equiv) to afford 1p (0.200 g, 61%) as a brown solid. Mp: 82–84 °C; 

TLC (20% EtOAc/Hexanes): Rf = 0.20; 1H NMR (400 MHz, CDCl3) δ 7.57 (dt, J = 7.9, 1.0 Hz, 1H), 7.30 

(dt, J = 8.2, 0.9 Hz, 1H), 7.21 (ddd, J = 8.3, 7.0, 1.2 Hz, 1H), 7.11 (ddd, J = 8.0, 7.0, 1.1 Hz, 1H), 6.86 (d, 

J = 1.1 Hz, 1H), 4.16 (t, J = 6.8 Hz, 2H), 2.40–2.29 (m, 5H), 2.15 (p, J = 7.0 Hz, 2H); 13C NMR (101 

MHz, CDCl3) δ 178.5, 136.5, 129.1, 125.6, 121.8, 119.3, 118.9, 110.9, 109.2, 45.1, 31.0, 25.5, 9.8; IR 

(neat) 3300–2200, 1702 cm–1; HRMS (ESI) m/z calcd for C13H16NO2 [M + H]+: 218.1181, found: 

218.1188. 

 

 
2-((3-Methyl-1H-indol-1-yl)methyl)benzoic acid (1q): 

To a cooled solution of 3-methylindole (0.200 g, 1.52 mmol, 1.0 equiv) in DMF (5.0 mL) at 0 °C under 

Ar atmosphere was added sodium hydride (60% dispersion in mineral oil) (0.0730 g, 1.83 mmol, 1.2 

equiv). After stirring for 10 min at 0 °C, ethyl 2-(bromomethyl)benzoate (0.440 g, 1.83 mmol, 1.2 equiv) 

was added and the reaction mixture was continued to stir at 0 °C for 15 min. The reaction mixture was 

warmed to rt and continued to stir at rt for 1 h. The reaction was quenched with water and the aqueous 

layer was extracted with EtOAc (10 mL × 3). The combined organic layers were washed with water (10 



S15 
 

mL × 1), brine once, dried over Na2SO4, and concentrated. Purification on a Combiflash purification 

system using a silica flash column (90:10 hexanes/EtOAc) afforded ethyl 2-((3-methyl-1H-indol-1-

yl)methyl)benzoate 10q (0.340 g, 76%) as a colorless oil. TLC (10% EtOAc/hexanes): Rf = 0.50; 1H 

NMR (400 MHz, CDCl3) δ 8.09–7.98 (m, 1H), 7.66–7.56 (m, 1H), 7.33–7.27 (m, 2H), 7.22–7.05 (m, 3H), 

6.90 (d, J = 1.1 Hz, 1H), 6.56–6.46 (m, 1H), 5.72 (d, J = 0.8 Hz, 2H), 4.42 (q, J = 7.1 Hz, 2H), 2.37 (d, J 

= 1.1 Hz, 3H), 1.43 (t, J = 7.1 Hz, 3H); 13C NMR (101 MHz, CDCl3) δ 167.3, 140.6, 137.0, 132.9, 131.0, 

129.1, 128.3, 127.3, 127.2, 126.4, 121.9, 119.2, 119.0, 111.2, 109.8, 61.4, 48.5, 14.6, 9.9; IR (neat) 1712 

cm–1; HRMS (ESI) m/z calcd for C19H20NO2 [M + H]+: 294.1494, found: 294.1463. 

To a solution of 10q (0.330 g, 1.12 mmol, 1.0 equiv) in THF (6.0 mL) was added a suspension of LiOH 

(0.108 g, 4.50 mmol, 4.0 equiv) in water (2.0 mL) and the resulting mixture was stirred at 50 °C for 24 h. 

The reaction mixture was acidified with 1 M HCl to pH 1 and the mixture was extracted with EtOAc (10 

mL × 3). The combined organic layers were washed with water (10 mL × 1), brine once, dried over 

Na2SO4, and concentrated. Purification on a Combiflash purification system using a silica flash column 

(95:5 DCM/MeOH) afforded 1q (0.225 g, 76%) as a colorless solid. Mp: 166–168 °C; TLC (10% 

EtOAc/hexanes): Rf = 0.10; 1H NMR (400 MHz, CDCl3) δ 8.20 (dt, J = 6.9, 1.4 Hz, 1H), 7.69–7.57 (m, 

1H), 7.44–7.30 (m, 2H), 7.22–7.07 (m, 3H), 6.96–6.87 (m, 1H), 6.51 (dd, J = 7.2, 2.0 Hz, 1H), 5.78 (s, 

2H), 2.38 (t, J = 1.0 Hz, 3H); 13C NMR (101 MHz, CDCl3) δ 173.0, 141.9, 137.0, 134.2, 132.2, 129.1, 

127.44, 127.42, 126.6, 126.4, 122.0, 119.3, 119.1, 111.4, 109.7, 48.6, 9.9; IR (neat) 3200–2000, 1679 cm–

1; HRMS (ESI) m/z calcd for C17H16NO2 [M + H]+: 266.1181, found: 266.1185. 

 

 
2-(3,4,5-Trimethoxyphenoxy)benzoic acid (1s): 

Following a modification of the reported procedure,11 to a solution of 2-bromobenzoic acid (0.500 g, 2.48 

mmol, 1.0 equiv) in DMF (15 mL) were added 3,4,5-trimethoxyphenol (0.916 g, 4.97 mmol, 2.0 equiv), 

1,8-diazabicyclo[5.4.0]undec-7-ene (1.14 g, 7.46 mmol, 3.0 equiv), pyridine (40.0 µL), copper (0) (20.0 

mg), and copper iodide (20.0 mg) in succession and the resulting mixture was refluxed for 2 h. The 

reaction mixture was acidified with 1 M HCl to pH 1 and the mixture was extracted with EtOAc (10 mL 

× 3). The combined organic layers were washed with water (10 mL × 1), brine once, dried over Na2SO4, 

and concentrated. Purification on a Combiflash purification system using a silica flash column (50:50 

hexanes/EtOAc) afforded 1s (0.350 g, 46%) as a colorless solid. Mp: 144–145 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.10; 1H NMR (400 MHz, CDCl3) δ 8.16 (dd, J = 7.9, 1.8 Hz, 1H), 7.49 (ddd, J = 



S16 
 

8.3, 7.3, 1.8 Hz, 1H), 7.23–7.16 (m, 1H), 6.90 (dd, J = 8.4, 0.9 Hz, 1H), 6.35 (s, 2H), 3.84 (s, 3H), 3.81 (s, 

6H); 13C NMR (101 MHz, CDCl3) δ 168.0, 157.8, 154.3, 151.32, 151.30, 135.5, 134.9, 133.3, 123.4, 

119.9, 118.0, 97.9 (2C), 61.2, 56.4 (2C); IR (neat) 3400–2200, 1692, 1670, 1596 cm–1; HRMS (ESI) m/z 

calcd for C16H17O6 [M + H]+: 305.1025, found: 305.0996. 

 

 
2-((3,4-Dimethoxyphenyl)thio)benzoic acid (1t):12  

Following a slight modification of the reported procedure,13 to a solution of 3,4-dimethoxybenzenethiol 

(255 mg, 1.50 mmol, 1.0 equiv) and 2-iodobenzoic acid (372 mg, 1.50 mmol, 1.0 equiv) in anhydrous 

DMF (2.5 mL) in a flame-dried N2-flushed microwave vial at rt was added potassium carbonate (207 mg, 

1.50 mmol, 1.0 equiv) and copper(I) iodide (57.1 mg, 0.300 mmol, 0.20 equiv). The vial was sealed with 

a N2 balloon inserted into a septum and the resulting suspension was stirred at 155 °C for 18 h 

(effervescence was observed and hood lights were kept off). Reaction mixture was quenched with 1.0 M 

aqueous HCl (10 mL), diluted with water (20 mL), and extracted with DCM (25 mL × 3). The combined 

organic layers were washed with water (60 mL × 3), brine (60 mL × 1), dried over Na2SO4, and 

concentrated. The residue obtained was suspended in DCM and loaded on a silica gel in a sample 

cartridge. Purification on a Combiflash purification system using a 12 g silica flash column (0–5% 

MeOH/DCM over 50 min) afforded impure 1t as a brownish-grey solid. Trituration of the solid with ether 

twice and with ether containing few drops of DCM once afforded pure 1t (238 mg, 55%) as an off-white 

solid  after filtration and drying under vacuum. Mp: 216–220 °C (shrink above 200 °C; lit.12 mp: 215–217 

°C); TLC (5% MeOH/DCM): Rf = 0.37; 1H NMR (500 MHz, DMSO-d6) δ 13.16 (brs, 1H), 7.91 (dd, J = 

7.8, 1.5 Hz, 1H), 7.35 (td, J = 8.1, 7.4, 1.6 Hz, 1H), 7.08–7.18 (m, 4H), 6.69 (d, J = 8.1 Hz, 1H), 3.82 (s, 

3H), 3.74 (s, 3H); 13C NMR (126 MHz, DMSO-d6) δ 167.4, 150.1, 149.6, 143.5, 132.4, 130.9, 128.9, 

126.6, 126.0, 124.1, 122.0, 118.5, 112.8, 55.7, 55.6; IR (neat) 3350–2200, 1668 cm–1; HRMS (ESI) m/z 

calcd for C15H15O4S [M + H]+: 291.0691, found: 291.0675. 

 

 
4-Chloro-2-(5-methylindolin-1-yl)benzoic acid (1u): 



S17 
 

Following a slight modification of the reported procedure,13 to a solution of 5-methylindoline (266 mg, 

2.00 mmol, 1.0 equiv) and 4-chloro-2-iodobenzoic acid (565 mg, 2.00 mmol, 1.0 equiv) in anhydrous 

DMF (2.5 mL) in a flame-dried N2-flushed microwave vial at rt was added potassium carbonate (276 mg, 

2.00 mmol, 1.0 equiv) and copper(I) iodide (76.0 mg, 0.400 mmol, 0.20 equiv). The vial was sealed with 

a N2 balloon inserted into a septum and the resulting suspension was stirred at 155 °C for 16 h 

(effervescence was observed and hood lights were kept off). Reaction mixture was quenched with 1.0 M 

aqueous HCl (10 mL), diluted with water (20 mL), and extracted with DCM (25 mL × 3). The combined 

organic layers were washed with water (50 mL × 3), brine (50 mL × 1), dried over Na2SO4, and 

concentrated. The residue obtained was redissolved in DCM and loaded on a silica gel in a sample 

cartridge. Purification on a Combiflash purification system using a 24 g silica flash column (0–2% 

MeOH/DCM over 40 min) afforded 1u as an orange oily solid, which showed some decomposition to  a 

corresponding oxidized indole byproduct in CDCl3 overtime at rt. Repurification of an impure sample of 

1u on a Combiflash purification system using a 12 g silica flash column (100% DCM over 40 min) 

afforded a slightly impure (ca. 94% pure) 1u (195 mg, 34%; contaminated with ca. 6% of the 

corresponding indole byproduct) as a yellowish-orange solid. Mp: 131–139 °C (shrink above 125 °C); 

TLC (4% MeOH/DCM): Rf = 0.53; 1H NMR (400 MHz, CDCl3) δ 14.21 (brs, 1H), 8.27 (d, J = 8.5 Hz, 

1H), 7.41 (dd, J = 8.5, 2.0 Hz, 1H), 7.32 (d, J = 2.0 Hz, 1H), 7.12 (s, 1H), 6.93 (m, 1H), 6.38 (d, J = 8.0 

Hz, 1H), 3.74 (apparent t, J = 7.6 Hz, 2H), 3.22 (t, J = 7.9 Hz, 2H), 2.31 (s, 3H); 13C NMR (101 MHz, 

CDCl3) δ 165.6, 149.3, 146.6, 140.6, 133.6, 133.4, 132.2, 128.5, 128.4, 126.1, 126.0, 125.5, 113.2, 59.4, 

29.4, 21.0; IR (neat) 3400–2200, 1721, 1688 cm–1; HRMS (ESI) m/z calcd for C16H15ClNO2 [M + H]+: 

288.0791, found: 288.0784. 

 

 
2-((3-Methoxybenzyl)thio)benzoic acid (1v):  

Following a modification of the reported procedure,8 to a turbid solution of 2-mercaptobenzoic acid (200 

mg, 1.30 mmol, 1.0 equiv) and sodium hydroxide (114 mg, 2.85 mmol, 2.2 equiv) in deionized water (5.0 

mL) in a big microwave vial at rt was added 3-methoxybenzyl bromide (274 mg, 1.36 mmol, 1.05 equiv). 

The vial was sealed and the turbid biphasic solution was stirred at refluxing temperature (100–105 °C) for 

1.5 h. Reaction mixture was cooled to rt and extrated with EtOAc (15 mL × 1) and the EtOAc layer was 

discarded. The aqueous layer was acidified with 2 M aqueous HCl solution (10 mL) and the resulting 

turbid solution was extrated with EtOAc (30 mL × 3). The combined organic layers were washed with 

brine (30 mL × 1), dried over Na2SO4, and concentrated. The solid obtained was suspended in DCM with 



S18 
 

few drops of MeOH and loaded on a silica gel in a sample cartridge. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–10% MeOH/DCM over 50 min) afforded 1v (313 

mg, 88%) as a colorless fluffy solid. Mp: 196–199 °C (lit.14 mp: 199–201 °C); TLC (3% MeOH/DCM): 

Rf = 0.45; 1H NMR (500 MHz, DMSO-d6) δ 13.04 (s, 1H), 7.88 (dd, J = 7.8, 1.2 Hz, 1H), 7.52–7.47 (m, 

2H), 7.26–7.19 (m, 2H), 7.01–6.99 (m, 2H), 6.84 (m, 1H), 4.17 (s, 2H), 3.74 (s, 3H); 13C NMR (126 

MHz, DMSO-d6) δ 167.4, 159.3, 141.3, 138.2, 132.4, 130.9, 129.5, 127.6, 125.7, 124.0, 121.4, 114.8, 

112.6, 55.0, 35.7; IR (neat) 3400–2350, 1685 cm–1; HRMS (ESI) m/z calcd for C15H15O3S [M + H]+: 

275.0742, found: 275.0742. 

 

 
5-(1,3-Benzodioxol-5-yl)pentanoic acid (1w):15  

To a suspension of 5-(1,3-benzodioxol-5-yl)-2,4-pentadienoic acid (218 mg, 1.00 mmol, 1.0 equiv) in 

ethanol (5.0 mL) in an oven-dried 25 mL under N2 was added palladium(II) carbon (10 wt%) (21.3 mg, 

0.200 mmol, 0.20 equiv). The resulting suspension was evacuated under vacuum and flushed with H2 

twice and was continued to stir under H2 atmosphere at rt for 5 h. Reaction mixture was concentrated and 

the residue obtained was diluted with DCM and loaded on a silica gel in a sample cartridge. Purification 

on a Combiflash purification system using a 12 g silica flash column (0–30% EtOAc/hexanes over 30 

min) afforded 1w (203 mg, 91%) as a colorless crystalline solid. Mp: 95–97 °C; TLC (30% 

EtOAc/hexanes, run twice): Rf = 0.50; 1H NMR (400 MHz, CDCl3) δ 11.71 (brs, 1H), 6.72 (d, J = 7.9 Hz, 

1H), 6.67 (d, J = 1.5 Hz, 1H), 6.62 (dd, J = 7.9, 1.7 Hz, 1H), 5.92 (s, 2H), 2.56 (t, J = 7.1 Hz, 2H), 2.37 (t, 

J = 7.0 Hz, 2H), 1.65 (m, 4H); 13C NMR (101 MHz, CDCl3) δ 180.2, 147.8, 145.8, 136.0, 121.3, 109.0, 

108.3, 100.9, 35.4, 34.1, 31.2, 24.3; IR (neat) 3300–2400, 1702 cm–1; HRMS (ESI) m/z calcd for 

C12H13O4 [M – H]–: 221.0814, found: 221.0828. 

 

 
5-(3,4-Dimethoxyphenyl)pentanoic acid (1x):16 

Following the procedure described for compound 1b, 3,4-dimethoxylbenzaldehyde (1.00 g, 6.02 mmol, 

1.0 equiv) was reacted with (2-carboxypropyl)triphenylphosphonium bromide (3.10 g, 7.22 mmol, 1.2 

equiv) in the presence of potassium tert-butoxide (1.69 g, 15.0 mmol, 2.5 equiv) to afford (E)-5-(3,4-



S19 
 

dimethoxyphenyl)pent-4-enoic acid 9x (0.615 g, 43%) as a colorless solid. Mp: 114–116 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 6.95–6.85 (m, 2H), 6.80 (d, J = 8.2 Hz, 1H), 

6.39 (d, J = 15.5 Hz, 1H), 6.16–6.01 (m, 1H), 3.88 (d, J = 9.6 Hz, 6H), 2.54 (d, J = 0.7 Hz, 4H); 13C NMR 

(101 MHz, CDCl3) δ 178.6, 149.3, 148.8, 131.1, 130.7, 126.3, 119.3, 111.5, 109.0, 56.2, 56.1, 34.0, 28.1; 

IR (neat) 2934, 1719, 1695, 1512 cm–1; HRMS (ESI) m/z calcd for C13H17O4 [M + H]+: 237.1127, found: 

237.1106. 

Compound 9x (0.600 g, 2.54 mmol) was then reduced with palladium(II) carbon (0.0600 g, 10 wt%) 

under H2 atmosphere to afford 1x (0.530 g, 88%) as a colorless solid. 

 

 
5-(3,5-Dimethoxyphenyl)pentanoic acid (1y):17  

Following the procedure described for compound 1b, 3,5-dimethoxylbenzaldehyde (0.500 g, 3.01 mmol, 

1.0 equiv) was reacted with (2-carboxypropyl)triphenylphosphonium bromide (1.55 g, 3.61 mmol, 1.2 

equiv) in the presence of potassium tert-butoxide (0.844 g, 7.52 mmol, 2.5 equiv) to afford (E)-5-(3,5-

dimethoxyphenyl)pent-4-enoic acid 9y (0.370 g, 52%) as a colorless solid. Mp: 104–106 °C; TLC (50% 

EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 6.50 (d, J = 2.3 Hz, 2H), 6.42–6.33 (m, 2H), 

6.25–6.15 (m, 1H), 3.79 (s, 6H), 2.61–2.47 (m, 4H); 13C NMR (101 MHz, CDCl3) δ 178.8, 161.1 (2C), 

139.5, 131.4, 128.8, 104.5 (2C), 99.8, 55.5 (2C), 33.8, 28.0; IR (neat) 3300–2100, 1701, 1579 cm–1; 

HRMS (ESI) m/z calcd for C13H17O4 [M + H]+: 237.1127, found: 237.1098. 

Compound 9y (0.300 g, 1.27 mmol) was then reduced with palladium(II) carbon (0.0300 g, 10 wt%) 

under H2 atmosphere to afford 1y (0.295 g, 98%) as a colorless solid. 

 

 
5-(Thiophen-3-yl)pentanoic acid (1z):18 

Following the procedure described for compound 1b, 3-thiophenecarboxaldehyde (1.00 g, 8.92 mmol, 1.0 

equiv) was reacted with (2-carboxypropyl)triphenylphosphonium bromide (4.59 g, 10.7 mmol, 1.2 equiv) 

in the presence of  potassium tert-butoxide (2.50 g, 22.3 mmol, 2.5 equiv) to afford (E)-5-(thiophen-3-

yl)pent-4-enoic acid 9z19 (1.01 g, 62%) as a brown solid. 



S20 
 

Compound 9z (0.657 g, 3.95 mmol) was then reduced with palladium(II) carbon (0.0657 g, 10 wt%) 

under H2 atmosphere to afford 1z (0.320 g, 44%) as a colorless solid. 

 

 
5-(Benzo[b]thiophen-3-yl)pentanoic acid (1aa): 

Following the procedure described for compound 1b, thianaphthene-3-carboxaldehyde (1.00 g, 6.16 

mmol, 1.0 equiv) was reacted with (2-carboxypropyl)triphenylphosphonium bromide (3.17 g, 7.39 mmol, 

1.2 equiv) in the presence of  potassium tert-butoxide (1.73 g, 15.4 mmol, 2.5 equiv) to afford (E)-5-

(benzo[b]thiophen-3-yl)pent-4-enoic acid 9aa (0.750 g, 52%) as a colorless solid. Mp: 97–98 °C; TLC 

(50% EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 7.91–7.81 (m, 2H), 7.45–7.30 (m, 3H), 

6.72 (dd, J = 15.9, 1.2 Hz, 1H), 6.34–6.21 (m, 1H), 2.67–2.55 (m, 4H); 13C NMR (101 MHz, CDCl3) δ 

178.4, 140.6, 137.9, 134.2, 130.2, 124.6, 124.4, 123.8, 123.1, 122.1, 121.5, 33.9, 28.5; IR (neat) 3300–

2100, 1701 cm–1; HRMS (ESI) m/z calcd for C13H11O2S [M – H]–: 231.0480, found: 231.0489. 

Compound 9aa (0.300 g, 1.29 mmol) was then reduced with palladium(II) carbon (0.0300 g, 10 wt%) 

under H2 atmosphere to afford 1aa (0.300 g, 99%) as a colorless solid. Mp: 99–100 °C; TLC (20% 

EtOAc/Hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 7.92–7.80 (m, 1H), 7.79–7.69 (m, 1H), 7.45–

7.30 (m, 2H), 7.10 (d, J = 1.1 Hz, 1H), 2.95–2.78 (m, 2H), 2.43 (t, J = 6.9 Hz, 2H), 1.80 (m, 4H); 13C 

NMR (101 MHz, CDCl3) δ 179.8, 140.7, 139.2, 136.5, 124.4, 124.0, 123.1, 121.8, 121.4, 34.1, 28.7, 28.4, 

24.7; IR (neat) 3200–2200, 1699, 1687 cm–1; HRMS (ESI) m/z calcd for C13H13O2S [M – H]–: 233.0636, 

found: 233.0644. 

 

 
5-(Benzofuran-2-yl)pentanoic acid (1ab): 

Following the procedure described for compound 1b, 2-benzofurancarboxaldehyde (1.00 g, 6.84 mmol, 

1.0 equiv) was reacted with (2-carboxypropyl)triphenylphosphonium bromide (3.53 g, 8.21 mmol, 1.2 

equiv) in the presence of  potassium tert-butoxide (1.92 g, 17.1 mmol, 2.5 equiv) to afford impure (E)-5-

(benzofuran-2-yl)pent-4-enoic acid 9ab (0.950 g, 64%; >85% pure as determined by 1H NMR) as a 

colorless solid. Mp: 106–108 °C; TLC (50% EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 

7.52–7.48 (m, 1H), 7.42 (dq, J = 8.2, 0.9 Hz, 1H), 7.26–7.16 (m, 2H), 6.54–6.32 (m, 3H), 2.60 (m, 4H); 



S21 
 

13C NMR (101 MHz, CDCl3) δ 179.0, 154.9, 154.7, 130.7, 129.2, 124.5, 123.0, 121.0, 120.2, 111.0, 

103.8, 33.6, 28.0; IR (neat) 3300–2100, 1697 cm–1; HRMS (ESI) m/z calcd for C13H13O3 [M + H]+: 

217.0865, found: 217.0835. 

Compound 9ab (0.300 g, 1.39 mmol; impure) was then reduced with palladium(II) carbon (0.0300 g, 10 

wt%) under H2 atmosphere to afford 1ab (0.150 g, 50%) as a colorless solid. Mp: 124–126 °C; TLC (20% 

EtOAc/Hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 11.15 (brs, 1H), 7.52–7.45 (m, 1H), 7.43–7.38 

(m, 1H), 7.24–7.15 (m, 2H), 6.40 (d, J = 1.0 Hz, 1H), 2.88–2.73 (m, 2H), 2.42 (t, J = 7.1 Hz, 2H), 1.89–

1.67 (m, 4H); 13C NMR (101 MHz, CDCl3) δ 179.7, 158.9, 154.9, 129.1, 123.4, 122.7, 120.4, 110.9, 

102.4, 33.9, 28.3, 27.3, 24.3; IR (neat) 3300–2100, 1705 cm–1; HRMS (ESI) m/z calcd for C13H15O3 [M + 

H]+: 219.1021, found: 219.0990.  

 

 
2,2-Dimethyl-3-(3-methyl-1H-indol-1-yl)propanoic acid (1ae): 

Following a modification of the reported procedure,20 to a cooled solution of 3-methylindole (0.300 g, 

2.29 mmol, 1.0 equiv) in DMF (5 mL) at 0 °C under Ar atmosphere was added sodium hydride (60% 

dispersion in mineral oil) (0.320 g, 8.00 mmol, 3.5 equiv). After stirring for 10 min at 0 °C, 3-chloro-2,2-

dimethylpropionic acid (0.344 g, 2.51 mmol, 1.1 equiv) and potassium iodide (0.0380 g, 0.228 mmol, 

0.10 equiv) were added and the reaction mixture was continued to stir at 0 °C for 15 min. The reaction 

mixture was then heated to 50 °C and continued to stir at 50 °C for 24 h. The reaction was quenched with 

water and acidified with 1 M HCl to pH 1. The aqueous layer was extracted with EtOAc (10 mL × 3) and 

the combined organic layers were washed with (10 mL × 1), brine once, dried over Na2SO4, and 

concentrated. Purification on a Combiflash purification system using a silica flash column (90:10 

hexanes/EtOAc) afforded 1ae (0.0850 g, 16%) as a colorless solid. Mp: 72–74 °C; TLC (10% 

EtOAc/Hexanes): Rf = 0.20; 1H NMR (400 MHz, CDCl3) δ 7.54 (dt, J = 7.8, 1.0 Hz, 1H), 7.33 (dt, J = 

8.2, 0.9 Hz, 1H), 7.19 (ddd, J = 8.2, 7.0, 1.2 Hz, 1H), 7.09 (ddd, J = 7.9, 7.0, 1.0 Hz, 1H), 6.88 (d, J = 1.1 

Hz, 1H), 4.27 (s, 2H), 2.31 (d, J = 1.1 Hz, 3H), 1.29 (s, 6H); 13C NMR (101 MHz, CDCl3) δ 181.9, 137.8, 

128.7, 126.7, 121.8, 119.1, 118.9, 111.3, 109.8, 53.7, 45.4, 23.9 (2C), 9.8; IR (neat) 3300–2100, 1700 cm–

1; HRMS (ESI) m/z calcd for C14H18NO2 [M + H]+: 232.1338, found: 232.1315. 

 



S22 
 

 
2-(3-Methyl-1H-indol-1-yl)benzoic acid (1af): 

Following a slight modification of the reported procedure,13 to a solution of 3-methyl-1H-indole (197 mg, 

1.50 mmol, 1.0 equiv) and 2-iodobenzoic acid (372 mg, 1.50 mmol, 1.0 equiv) in anhydrous DMF ( 2.5 

mL) in a flame-dried N2-flushed microwave vial at rt was added potassium carbonate (207 mg, 1.50 

mmol, 1.0 equiv) and copper(I) iodide (57.1 mg, 0.300 mmol, 0.20 equiv). The vial was sealed with a N2 

balloon inserted into a septum and the resulting suspension was stirred at 155 °C for 18 h (effervescence 

was observed and hood lights were kept off). Reaction mixture was quenched with 1.0 M aqueous HCl 

(10 mL), diluted with water (20 mL), and extracted with DCM (25 mL × 3). The combined organic layers 

were washed with water (60 mL × 3), brine (60 mL × 1), dried over Na2SO4, and concentrated. The oily 

residue obtained was dissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–2.5% MeOH/DCM over 50 min) 

afforded impure 1af as an orange-brown oil. Repurification of impure 1af on a Combiflash purification 

system using a 12 g silica flash column (0–40% EtOAc/hexanes over 40 min) afforded a partial separation 

of pure 1af (112 mg, 30%) as a creamish-orange solid. Mp: 102–108 °C (shrink above 95 °C); TLC (5% 

MeOH/DCM): Rf = 0.41; 1H NMR (400 MHz, CDCl3) δ 10.66 (brs, 1H), 8.05–8.08 (m, 1H), 7.64–7.68 

(m, 2H), 7.45–7.49 (m, 2H), 7.16–7.23 (m, 3H), 7.00 (d, J = 1.1 Hz, 1H), 2.42 (d, J = 1.1 Hz, 3H); 13C 

NMR (101 MHz, CDCl3) δ 171.4, 139.7, 137.5, 133.8, 132.2, 129.6, 128.8, 127.3 (2C), 126.7, 122.5, 

119.8, 119.3, 113.0, 109.9, 9.8; IR (neat) 3500–2200, 1690, 1600 cm–1; HRMS (ESI) m/z calcd for 

C16H14NO2 [M + H]+: 252.1025, found: 252.1013. 

 

 
3',4'-Dimethoxy-[1,1'-biphenyl]-2-carboxylic acid (1ag):21  

Following a modification of the reported procedure,22 to a solution of (3,4-dimethoxyphenyl)boronic acid 

(287 mg, 1.58 mmol, 1.05 equiv) and 2-iodobenzoic acid (372 mg, 1.50 mmol, 1.0 equiv) in degassed 

THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a sonicated solution of lithium 

hydroxide (90.0 mg, 3.75 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) (solvents were degassed 

with Ar under sonication for 5 min) and the resulting slightly turbid solution was stirred at rt for 5 min 



S23 
 

(till effervescence ceased). The solution was degassed with Ar for 2 min followed by the addition of 

tris(dibenzylideneacetone)dipalladium (0) (20.6 mg, 0.0220 mmol, 0.015 equiv). The vial was sealed with 

a septum and the resulting suspension was stirred at 80 °C for 14 h. Reaction mixture was partially 

concentrated under N2 and acidified with 2 M aqueous HCl solution (10 mL) followed by the addition of 

water (25 mL). The resulting suspension was extracted with DCM (25 mL × 3). The combined organic 

layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. The solid residue 

obtained was suspended in DCM containing few drops of MeOH and loaded on a silica gel in a sample 

cartridge. Purification on a Combiflash purification system using a 12 g silica flash column (0–2% 

MeOH/DCM over 40 min) afforded 1ag (235 mg, 61%) as a colorless solid with light orange tinge. Mp: 

164–166 °C (lit.21 mp: 162–165 °C); TLC (4% MeOH/DCM, run twice): Rf = 0.52; 1H NMR (500 MHz, 

DMSO-d6) δ 12.77 (brs, 1H), 7.65 (dd, J = 8.0, 1.3 Hz, 1H), 7.53 (td, J = 7.6, 1.4 Hz, 1H), 7.42–7.39 (m, 

2H), 6.99 (d, J = 8.3 Hz, 1H), 6.92 (d, J = 2.0 Hz, 1H), 6.86 (dd, J = 8.2, 2.1 Hz, 1H), 3.78 (s, 3H), 3.76 

(s, 3H); 13C NMR (126 MHz, DMSO-d6) δ 170.2, 148.3, 148.2, 140.4, 133.2, 132.7, 130.6, 130.3, 128.7, 

126.8, 120.5, 112.2, 111.6, 55.5, 55.4; IR (neat) 3315, 1719 cm–1; HRMS (ESI) m/z calcd for C15H15O4 

[M + H]+: 259.0970, found: 259.0957. 

 

 
3-Fluoro-3'-isopropoxy-[1,1'-biphenyl]-2-carboxylic acid (1ah): 

Following a modification of the reported procedure,22 to a solution of (3-isopropoxyphenyl)boronic acid 

(283 mg, 1.58 mmol, 1.05 equiv) and 2-fluoro-6-iodobenzoic acid (399 mg, 1.50 mmol, 1.0 equiv) in 

degassed THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a a sonicated solution 

of lithium hydroxide (90.0 mg, 3.75 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) (solvents 

were degassed with Ar under sonication for 5 min) and the resulting solution was stirred at rt for 5 min 

(till effervescence ceased). The solution was degassed with Ar for 1 min followed by the addition of 

tris(dibenzylideneacetone)dipalladium (0) (20.6 mg, 0.0220 mmol, 0.015 equiv). The vial was sealed with 

a septum and the resulting suspension was stirred at 80 °C for 13 h. Reaction mixture was partially 

concentrated under N2 and acidified with 2 M aqueous HCl solution (15 mL) followed by the addition of 

water (20 mL). The resulting suspension was extracted with DCM (25 mL × 3). The combined organic 

layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. The oily residue 

obtained was redissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 24 g silica flash column (0–3% MeOH/DCM over 60 min) 



S24 
 

afforded impure 1ah as a pale orange oil. Impure 1ah was dissolved in 1.5 mL DMSO and loaded on a 50 

g HP C18 Gold column. Repurification was carried out on a reverse-phase Combiflash system (0% 

ACN/H2O both containing 0.1% CF3CO2H over 2 min followed by 0–70% ACN/H2O both containing 

0.1% CF3CO2H from 2–32 min). Elutions containing product were concentrated under vacuum in 

Genevac. The resulting colorless solid was dissolved in DCM and filtered through a short bed containing 

a mixture of Na2SO4 and silica gel using a phase separator tabless. Concentration and drying under 

vacuum afforded pure 1ah (262 mg, 64%) as a colorless partially oily crystalline solid. Mp: 103–105 °C; 

TLC (3% MeOH/DCM): Rf = 0.19; 1H NMR (400 MHz, CDCl3) δ 11.91 (brs, 1H), 7.47 (m, 1H), 7.31 (t, 

J = 7.8 Hz, 1H), 7.21 (d, J = 7.7 Hz, 1H), 7.14 (m, 1H), 6.99–6.92 (m, 3H), 4.57 (m, 1H), 1.35 (d, J = 6.1 

Hz, 6H); 13C NMR (101 MHz, CDCl3) δ 171.5, 160.0 (d, J = 252.5 Hz, 1C), 158.1, 143.0 (d, J = 2.3 Hz, 

1C), 140.5 (d, J = 2.2 Hz, 1C), 131.9 (d, J = 9.1 Hz, 1C), 129.8, 125.9 (d, J = 3.1 Hz, 1C), 120.7, 120.5 

(d, J = 15.8 Hz, 1C), 116.3, 115.8, 114.9 (d, J = 21.6 Hz, 1C), 70.4, 22.2 (2C); IR (neat) 3400–2400, 

1738, 1704, 1573 cm–1; HRMS (ESI) m/z calcd for C16H14FO2 [M – OH]+: 257.0972, found: 257.0952. 

 

 
3',5'-Dimethoxy-[1,1'-biphenyl]-2-carboxylic acid (1ai):23  

Following a modification of the reported procedure,22 to a suspension of (3,5-dimethoxyphenyl)boronic 

acid (287 mg, 1.58 mmol, 1.05 equiv) and 2-iodobenzoic acid (372 mg, 1.50 mmol, 1.0 equiv) in 

degassed THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a a sonicated solution 

of lithium hydroxide (90.0 mg, 3.75 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) (solvents 

were degassed with Ar under sonication for 5 min) and the resulting slightly turbid solution was stirred at 

rt for 5 min (till effervescence ceased). The solution was degassed with Ar for 2 min followed by the 

addition of tris(dibenzylideneacetone)dipalladium (0) (20.6 mg, 0.0220 mmol, 0.015 equiv). The vial was 

sealed with a septum and the resulting suspension was stirred at 80 °C for 14 h. Reaction mixture was 

partially concentrated under N2 and acidified with 2 M aqueous HCl solution (10 mL) followed by the 

addition of water (15 mL). The resulting suspension was extracted with DCM (25 mL × 3). The combined 

organic layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. The residue 

obtained was redissolved in DCM and loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 24 g silica flash column (0–1% MeOH/DCM over 40 min) 

afforded impure 1ai as a creamish solid. Recrystallization of the solid from DCM/ether mixture 

(suspended solid in ether was dissolved by the dropwise addition of DCM. Hexanes was then added till 



S25 
 

the solution became slightly turbid) afforded pure 1ai (232 mg, 60%) as a colorless small plate-like 

crystals  after filtration and drying under vacuum. Mp: 145.5–147 °C; TLC (3% MeOH/DCM): Rf = 0.32; 
1H NMR (400 MHz, CDCl3) δ 11.81 (brs, 1H), 7.93 (dd, J = 7.8, 1.1 Hz, 1H), 7.55 (td, J = 7.5, 1.4 Hz, 

1H), 7.45–7.38 (m, 2H), 6.51 (d, J = 2.2 Hz, 2H), 6.47 (t, J = 2.2 Hz, 1H), 3.80 (s, 6H); 13C NMR (101 

MHz, CDCl3) δ 173.8, 160.6 (2C), 143.23, 143.18, 132.1, 131.1, 130.6, 129.7, 127.5, 107.0 (2C), 99.9, 

55.6 (2C); IR (neat) 3300–2300, 1682, 1592 cm–1; HRMS (ESI) m/z calcd for C15H15O4 [M + H]+: 

259.0970, found: 259.0960. 

 

 
5-Chloro-3',5'-dimethyl-[1,1'-biphenyl]-2-carboxylic acid (1aj): 

Following a modification of the reported procedure,22 to a solution of (3,5-dimethylphenyl)boronic acid 

(236 mg, 1.58 mmol, 1.05 equiv) and 4-chloro-2-iodobenzoic acid (424 mg, 1.50 mmol, 1.0 equiv) in 

degassed THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a a sonicated solution 

of lithium hydroxide (90.0 mg, 3.75 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) (solvents 

were degassed with Ar under sonication for 5 min) and the resulting solution was stirred at rt for 5 min 

(till effervescence ceased). The solution was degassed with Ar for 2 min followed by the addition of 

tris(dibenzylideneacetone)dipalladium (0) (20.6 mg, 0.0220 mmol, 0.015 equiv). The vial was sealed with 

a septum and the resulting suspension was stirred at 80 °C for 14 h. Reaction mixture was partially 

concentrated under N2 and acidified with 2 M aqueous HCl solution (10 mL) followed by the addition of 

water (25 mL). The resulting suspension was extracted with DCM (25 mL × 3). The combined organic 

layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. The solid residue 

obtained was suspended in DCM and loaded on a silica gel in a sample cartridge. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–40% EtOAc/hexanes over 40 min) 

afforded impure 1aj as a creamish-orange solid. Impure 1aj was dissolved in 1.5 mL DMSO and loaded 

on a 50 g HP C18 Gold column. Repurification was carried out on a reverse-phase Combiflash system 

(0% ACN/H2O both containing 0.1% CF3CO2H over 2 min followed by 0–70% ACN/H2O both 

containing 0.1% CF3CO2H from 2–32 min). Elutions containing product were concentrated under vacuum 

in Genevac. The resulting creamish solid was dissolved in ether and filtered through a short bed 

containing a mixture of Na2SO4 and silica gel using a phase separator tabless. Concentration and drying 

under vacuum afforded pure 1aj (320 mg, 82%) as a pale creamish-orange crystalline solid. Mp: 154–156 

°C; TLC (30% EtOAc/hexanes): Rf = 0.22; 1H NMR (400 MHz, CDCl3) δ 11.20 (brs, 1H), 7.88 (m, 1H), 



S26 
 

7.39–7.36 (m, 2H), 7.01 (s, 1H), 6.93 (s, 2H), 2.34 (s, 6H); 13C NMR (101 MHz, CDCl3) δ 173.3, 145.7, 

139.8, 138.4, 137.8 (2C), 132.3, 131.5, 129.7, 127.7, 127.3, 126.3 (2C), 21.5 (2C); IR (neat) 3350–2150, 

1687 cm–1; HRMS (ESI) m/z calcd for C15H12ClO [M – OH]+: 243.0571, found: 243.0566. 

 

 
3-(3,5-Dimethoxyphenyl)thiophene-2-carboxylic acid (1ak): 

Following a modification of the reported procedure,22 to a suspension of (3,5-dimethoxyphenyl)boronic 

acid (287 mg, 1.58 mmol, 1.05 equiv) and 3-bromothiophene-2-carboxylic acid (311 mg, 1.50 mmol, 1.0 

equiv) in degassed THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a a sonicated 

solution of lithium hydroxide (90.0 mg, 3.75 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) 

(solvents were degassed with Ar under sonication for 5 min) and the resulting slightly turbid solution was 

stirred at rt for 5 min (till effervescence ceased). The solution was degassed with Ar for 2 min followed 

by the addition of tris(dibenzylideneacetone)dipalladium (0) (20.6 mg, 0.0220 mmol, 0.015 equiv). The 

vial was sealed with a septum and the resulting suspension was stirred at 80 °C for 14 h. Reaction mixture 

was partially concentrated under N2 and acidified with 2 M aqueous HCl solution (10 mL) followed by 

the addition of water (15 mL). The resulting suspension was extracted with DCM (25 mL × 3). The 

combined organic layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. The 

solid residue obtained was suspended in DCM containing few drops of MeOH and loaded on a silica gel 

in a sample cartridge. Purification on a Combiflash purification system using a 12 g silica flash column 

(0–2% MeOH/DCM over 40 min) afforded impure 1ak as a creamish-orange solid. Impure 1ak was 

dissolved in 2.0 mL DMSO and loaded on a 50 g HP C18 Gold column. Repurification was carried out on 

a reverse-phase Combiflash system (0% ACN/H2O both containing 0.1% CF3CO2H over 2 min followed 

by 0–70% ACN/H2O both containing 0.1% CF3CO2H from 2–32 min). Elutions containing product were 

concentrated under vacuum in Genevac. The resulting colorless solid was dissolved in DCM and filtered 

through a short bed containing a mixture of Na2SO4 and silica gel using a phase separator tabless. 

Concentration and drying under vacuum afforded pure 1ak (120 mg, 30%) as a colorless solid. Mp: 

147.5–149 °C; TLC (3% MeOH/DCM): Rf = 0.29; 1H NMR (400 MHz, CDCl3) δ 12.18 (brs, 1H), 7.57 

(d, J = 5.1 Hz, 1H), 7.10 (d, J = 5.1 Hz, 1H), 6.61 (d, J = 2.3 Hz, 2H), 6.50 (t, J = 2.3 Hz, 1H), 3.81 (s, 

6H); 13C NMR (101 MHz, CDCl3) δ 167.7, 160.4 (2C), 149.8, 137.4, 132.1, 131.9, 126.9, 107.7 (2C), 

100.6, 55.6 (2C); IR (neat) 3300–2300, 1686, 1597 cm–1; HRMS (ESI) m/z calcd for C13H13O4S [M + H]+: 

265.0535, found: 265.0524. 



S27 
 

 
2-(3',5'-dimethoxy-[1,1'-biphenyl]-2-yl)acetic acid (1am):  

Following a modification of the reported procedure,22 to a solution of (3,5-dimethoxyphenyl)boronic acid 

(147 mg, 0.807 mmol, 1.05 equiv) and 2-iodophenylacetic acid (200 mg, 0.763 mmol, 1.0 equiv) in 

degassed THF (2.0 mL) in a flame-dried microwave vial at rt under Ar was added a sonicated solution of 

lithium hydroxide (46.0 mg, 1.91 mmol, 2.5 equiv) in degassed deionized water (2.0 mL) (solvents were 

degassed with Ar under sonication for 5 min) and the resulting slightly turbid solution was stirred at rt for 

5 min (till effervescence ceased). The solution was degassed with Ar for 2 min followed by the addition 

of tris(dibenzylideneacetone)dipalladium (0) (10.5 mg, 0.0114 mmol, 0.015 equiv). The vial was sealed 

with a septum and the resulting suspension was stirred at 80 °C for 14 h. Reaction mixture was partially 

concentrated under N2 and acidified with 2 M aqueous HCl solution (10 mL) followed by the addition of 

water (25 mL). The resulting suspension was extracted with DCM (25 mL × 3). The combined organic 

layers were washed with brine (50 mL × 1), dried over Na2SO4, and concentrated. Purification on a 

Combiflash purification system using a silica flash column (50:50 hexanes/EtOAc) afforded 1am (150 

mg, 72%) as a colorless solid. Mp: 128–130 °C; TLC (50% EtOAc/Hexanes): Rf = 0.70; 1H NMR (400 

MHz, CDCl3) δ 7.41–7.27 (m, 4H), 6.47 (s, 3H), 3.78 (s, 6H), 3.65 (s, 2H); 13C NMR (101 MHz, CDCl3) 

δ 177.9, 160.8 (2C), 143.1, 142.8, 131.2, 130.6, 130.1, 127.9, 127.6, 107.5 (2C), 99.9, 55.6 (2C), 38.6; IR 

(neat) 3400–2200, 1687, 1592 cm–1; HRMS (ESI) m/z calcd for C16H17O4 [M + H]+: 273.1127, found: 

273.1098. 

 

 

 

 

 

 

 

 

 

 

 

 



S28 
 

General procedure C for the Friedel–Crafts reaction in HFIP (Figure 1) 

Procedure (Step-1 → Synthesis of Acid Chloride): 

To a solution of acid 1 (0.300 mmol, 1.0 equiv) in anhydrous DCM (1.5 mL) in a flame-dried N2-flushed 

2 dram vial at rt under N2 blanket was added a small drop (catalytic; using a 21G needle) of DMF. Then 

oxalyl chloride (0.390 or 0.600 mmol, 1.3 or 2.0 equiv) was added dropwise (gas evolution was observed; 

the cap was opened for a while under N2 blanket to release the pressure) and the reaction mixture was 

stirred at rt for a specified period (25–90 min). Reaction mixture was concentrated under N2 using sample 

concentrator and the residue obtained was dried under vacuum for ~15–20 min. The crude acid chloride 2 

was used as such for the Step-2. 

Procedure (Step-2 → Friedel-Crafts Acylation): 

To the same 2 dram vial containing the crude acid chloride intermediate 2 at rt was added HFIP (0.75 mL, 

substrate concentration is 0.40 M) quickly and the vial was capped immediately. The resultant reaction 

mixture was stirred at rt for 2–6 h, unless otherwise noted. Reaction mixture was concentrated under N2 

and the resulting residue was dissolved in a minimum quantity of DCM or ether and loaded on a silica gel 

in a sample cartridge. Purification on a Combiflash purification system using a normal phase silica flash 

column (4, 12, or 24 g) afforded the cyclized product 3 after concentration and drying under vacuum. 

 

 
6,7-Dimethoxy-3,4-dihydronaphthalen-1(2H)-one (3a):24,25 

Following the general procedure C, 4-(3,4-dimethoxyphenyl)butanoic acid 1a (67.3 mg, 0.300 mmol, 1.0 

equiv) was converted to 4-(3,4-dimethoxyphenyl)butanoyl chloride 2a using oxalyl chloride (50.8 µL, 

0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2a was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 2 h. Purification on a Combiflash purification system using 

a 4 g silica flash column (0–40% EtOAc/hexanes over 20 min) afforded 3a (59.9 mg, 97%) as a colorless 

solid. 

 

 
6,8-Dimethoxy-3,4-dihydronaphthalen-1(2H)-one (3b):26  

Following the general procedure C, 4-(3,5-dimethoxyphenyl)butanoic acid 1b (67.3 mg, 0.300 mmol, 1.0 

equiv) was converted to 4-(3,5-dimethoxyphenyl)butanoyl chloride 2b using oxalyl chloride (50.8 µL, 



S29 
 

0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2b was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (50:50 hexanes/EtOAc) afforded 3b (53.0 mg, 86%) as a brown solid. Mp: 64–66 

°C; TLC (50% EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 6.36–6.28 (m, 2H), 3.88 (s, 

3H), 3.84 (s, 3H), 2.92–2.83 (m, 2H), 2.63–2.52 (m, 2H), 2.06–1.96 (m, 2H); 13C NMR (101 MHz, 

CDCl3) δ 196.3, 164.0, 162.8, 149.5, 116.7, 104.9, 97.4, 56.2, 55.6, 41.0, 31.8, 23.1; IR (neat) 1665, 1596 

cm–1; HRMS (ESI) m/z calcd for C12H15O3 [M + H]+: 207.2490, found: 207.0998. 

 

 
6,8-Dimethyl-3,4-dihydronaphthalen-1(2H)-one (3c):27 

Following the general procedure C, 4-(3,5-dimethylphenyl)butanoic acid 1c (57.6 mg, 0.300 mmol, 1.0 

equiv) was converted to 4-(3,5-dimethylphenyl)butanoyl chloride 2c using oxalyl chloride (50.8 µL, 

0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2c was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (80:20 hexanes/EtOAc) afforded 3c (38.0 mg, 73%) as a yellow oil. 

 

 
6,9-Dimethoxy-2,3-dihydro-1H-phenalen-1-one (3d): 

Following the general procedure C, 3-(4,7-dimethoxynaphthalen-1-yl)propanoic acid 1d (78.1 mg, 0.300 

mmol, 1.0 equiv) was converted to 3-(4,7-dimethoxynaphthalen-1-yl)propanoyl chloride 2d using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2d was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 4 h. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–50% EtOAc/hexanes over 50 min) afforded 3d 

(37.0 mg, 51%) as a olive green solid. Mp: 124–127 °C (melted with decomposition); TLC (30% 

EtOAc/hexanes): Rf = 0.22; 1H NMR (400 MHz, CDCl3) δ 8.44 (d, J = 9.4 Hz, 1H), 7.27–7.24 (m, 2H), 

6.64 (d, J = 7.8 Hz, 1H), 4.03 (s, 3H), 3.96 (s, 3H), 3.24 (apparent t, J = 7.2 Hz, 2H), 2.85 (apparent t, J = 

7.2 Hz, 2H); 13C NMR (101 MHz, CDCl3) δ 198.1, 158.3, 154.6, 134.6, 130.2, 126.4, 124.5, 120.1, 115.8, 

112.6, 102.1, 56.7, 55.7, 40.8, 28.8; IR (neat) 1676, 1588, 1248, 1042 cm–1; HRMS (ESI) m/z calcd for 

C15H15O3 [M + H]+: 243.1021, found: 243.1006. 



S30 
 

 
6,7-Dihydrobenzo[b]thiophen-4(5H)-one (3e):28 

Following the general procedure C, 4-(2-thienyl)butyric acid 1e (51.1 mg, 0.300 mmol, 1.0 equiv) was 

converted to 4-(2-thienyl)butanoyl chloride 2e using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 

30 min. The crude acid chloride 2e was dissolved in HFIP (0.75 mL) and the resultant reaction mixture 

was stirred at rt for 3 h. Purification on a Combiflash purification system using a 12 g silica flash column 

(0–15% EtOAc/hexanes over 30 min) afforded 3e (37.0 mg, 81%) as a pale yellow oil. 

 

 
 

5,6-Dihydrobenzo[b]thiophen-7(4H)-one (3f):29  

Following the general procedure C, 4-(thiophen-3-yl)butanoic acid 1f (51.0 mg, 0.300 mmol, 1 equiv) 

was converted to 4-(thiophen-3-yl)butanoyl chloride 2f using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 

equiv) in 30 min. The crude acid chloride 2f was dissolved in HFIP (0.75 mL) and the resultant reaction 

mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using a silica flash 

column (80:20 hexanes/EtOAc) afforded 3f (33.0 mg, 72%) as a colorless oil. TLC (20% 

EtOAc/Hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 7.60 (d, J = 4.9 Hz, 1H), 6.97 (d, J = 4.9 Hz, 

1H), 2.88 (t, J = 6.1 Hz, 2H), 2.69–2.50 (m, 2H), 2.18 (tt, J = 6.5, 5.7 Hz, 2H); 13C NMR (101 MHz, 

CDCl3) δ 192.5, 152.8, 136.8, 133.9, 128.4, 38.5, 26.2, 24.6; IR (neat) 1653 cm–1; HRMS (ESI) m/z calcd 

for C8H9OS [M + H]+: 153.0374, found: 153.0350. 

 

 
2,3-Dihydrodibenzo[b,d]thiophen-4(1H)-one (3g):5 

Following the general procedure C, 4-(benzo[b]thiophen-3-yl)butanoic acid 1g (66.0 mg, 0.300 mmol, 1.0 

equiv) was converted to 4-(benzo[b]thiophen-3-yl)butanoyl chloride 2g using oxalyl chloride (50.8 µL, 

0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2g was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (50:50 hexanes/EtOAc) afforded 3g (60.0 mg, 99%) as a colorless solid. 



S31 
 

 
3,4-Dihydrodibenzo[b,d]furan-1(2H)-one (3h):30 

Following the general procedure C, 4-(benzofuran-2-yl)butanoic acid 1h (61.0 mg, 0.300 mmol, 1.0 

equiv) was converted to 4-(benzofuran-2-yl)butanoyl chloride 2h using oxalyl chloride (50.8 µL, 0.600 

mmol, 2.0 equiv) in 30 min. The crude acid chloride 2h was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (80:20 hexanes/EtOAc) afforded 3h (50.0 mg, 90%) as a colorless oil. 

 

 
Chroman-4-one (3i):31 

Following the general procedure C, 3-phenoxypropanoic acid 1i (49.8 mg, 0.300 mmol, 1.0 equiv) was 

converted to 3-phenoxypropanoyl chloride 2i using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 

30 min. The crude acid chloride 2i was dissolved in HFIP (0.75 mL) and the resultant reaction mixture 

was stirred at rt for 5 h. Purification on a Combiflash purification system using a silica flash column 

(80:20 hexanes/EtOAc) afforded 3i (31.0 mg, 70%) as a colorless oil. 

 

 
5,8-Dimethoxythiochroman-4-one (3j):32 

Following the general procedure C, 3-((2,5-dimethoxyphenyl)thio)propanoic acid 1j (72.7 mg, 0.300 

mmol, 1.0 equiv) was converted to 3-((2,5-dimethoxyphenyl)thio)propanoyl chloride 2j using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2j was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–50% EtOAc/hexanes over 50 min) afforded 3j 

(35.5 mg, 53%) as a creamish yellow solid. Mp: 133–136 °C; TLC (40% EtOAc/hexanes): Rf = 0.31; 1H 

NMR (400 MHz, CDCl3) δ 6.89 (d, J = 9.0 Hz, 1H), 6.64 (d, J = 9.0 Hz, 1H), 3.83 (s, 3H), 3.82 (s, 3H), 

3.16–3.13 (m, 2H), 2.93–2.90 (m, 2H); 13C NMR (101 MHz, CDCl3) δ 194.2, 155.4, 149.0, 133.7, 122.2, 



S32 
 

115.1, 108.4, 56.8, 56.7, 41.0, 25.5; IR (neat) 1677, 1575 cm–1; HRMS (ESI) m/z calcd for C11H13O3S [M 

+ H]+: 225.0585, found: 225.0578. 

 

 
7-Methoxy-2-phenylthiochroman-4-one (3kp) and 5-Methoxy-2-phenylthiochroman-4-one (3ko): 

Following the general procedure C, 3-((3-methoxyphenyl)thio)-3-phenylpropanoic acid 1k (86.5 mg, 

0.300 mmol, 1.0 equiv) was converted to 3-((3-methoxyphenyl)thio)-3-phenylpropanoyl chloride 2k  

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2k was 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 4 h. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–20% EtOAc/hexanes over 40 min) 

afforded 3kp (50.0 mg, 62%) and 3ko (10.8 mg, 13%) as light yellow solids (combined yield = 60.8 mg, 

75%; 3kp:3ko = 82:18). For 3kp: mp: 82.5–84.5 °C; TLC (20% EtOAc/hexanes): Rf = 0.52; 1H NMR (400 

MHz, CDCl3) δ 8.10–8.13 (m, 1H), 7.31–7.43 (m, 5H), 6.73–6.75 (m, 2H), 4.71 (dd, J = 12.9, 3.1 Hz, 

1H), 3.83 (s, 3H), 3.27 (dd, J = 16.5, 12.9 Hz, 1H), 3.15 (dd, J = 16.5, 3.1 Hz, 1H); 13C NMR (101 MHz, 

CDCl3) δ 193.2, 163.7, 144.4, 138.7, 131.5, 129.1, 128.6, 127.6, 124.3, 112.9, 110.6, 55.7, 46.6, 45.9; IR 

(neat) 1665, 1587 cm–1; HRMS (ESI) m/z calcd for C16H15O2S [M + H]+: 271.0793, found: 271.0787. For 

3ko: mp: 110.5–113.5 °C (shrinked >100 °C); TLC (20% EtOAc/hexanes): Rf = 0.22; 1H NMR (400 

MHz, CDCl3) δ 7.29–7.43 (m, 6H), 6.87 (dd, J = 7.9, 1.0 Hz, 1H), 6.74 (m, 1H), 4.69 (dd, J = 13.0, 3.2 

Hz, 1H), 3.91 (s, 3H), 3.34 (dd, J = 15.7, 13.0 Hz, 1H), 3.18 (dd, J = 15.7, 3.2 Hz, 1H); 13C NMR (101 

MHz, CDCl3) δ 194.4, 161.6, 144.3, 138.7, 133.9, 129.2, 128.6, 127.6, 121.0, 119.5, 109.0, 56.4, 48.9, 

45.4; IR (neat) 1672, 1579 cm–1; HRMS (ESI) m/z calcd for C16H15O2S [M + H]+: 271.0793, found: 

271.0789. 

 

 
2,3-Dihydro-1H-benzo[f]thiochromen-1-one (3l):8 

Following the general procedure C, 3-(2-naphthylthio)propionic acid 1l (69.7 mg, 0.300 mmol, 1.0 equiv) 

was converted to 3-(2-naphthylthio)propionyl chloride 2l using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 

equiv) in 30 min. The crude acid chloride 2l was dissolved in HFIP (0.75 mL) and the resultant reaction 

mixture was stirred at rt for 3 h. Purification on a Combiflash purification system using a 4 g silica flash 



S33 
 

column (0–5% EtOAc/hexanes over 50 min) afforded 3l (59.4 mg, 92%) as a pale yellow turbid oil. TLC 

(10% ether/hexanes, run twice): Rf = 0.38; 1H NMR (400 MHz, CDCl3) δ 9.17 (m, 1H), 7.73 (m, 2H), 

7.60 (ddd, J = 8.6, 6.9, 1.5 Hz, 1H), 7.44 (ddd, J = 8.0, 6.9, 1.1 Hz, 1H), 7.26 (d, J = 8.7 Hz, 1H), 3.27 

(m, 2H), 3.09 (m, 2H); 13C NMR (101 MHz, CDCl3) δ 196.2, 145.3, 133.7, 132.6, 131.9, 129.3, 128.6, 

126.3, 125.79, 125.77, 125.5, 41.4, 26.5; IR (neat) 1657, 1588 cm–1; HRMS (ESI) m/z calcd for C13H11OS 

[M + H]+: 215.0531, found: 215.0528.  

 

 
3,3,6,7-Tetramethylthiochroman-4-one (3mp) and 3,3,5,6-Tetramethylthiochroman-4-one (3mo): 

Following the general procedure C, 3-((3,4-dimethylphenyl)thio)-2,2-dimethylpropanoic acid 1m (71.5 

mg, 0.300 mmol, 1.0 equiv) was converted to 3-((3,4-dimethylphenyl)thio)-2,2-dimethylpropanoyl 

chloride 2m using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 

2m was dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 3 h. 

Purification on a Combiflash purification system using a 24 g silica flash column (0–10% EtOAc/hexanes 

over 20 min) afforded a partial separation of 3mp (39.5 mg) as a colorless solid and 3mo (19.0 mg) as a 

colorless oily solid and a small amount (5.00 mg) was obtained as a mixture of 3mp and 3mo (combined 

yield = 63.5 mg, 96%; 3mp:3mo = 64:36). For 3mp: mp: 89–90.5 °C; TLC (4% EtOAc/hexanes): Rf = 

0.35; 1H NMR (400 MHz, CDCl3) δ 7.85 (s, 1H), 6.98 (s, 1H), 3.04 (s, 2H), 2.23 (d, J = 3.5 Hz, 6H), 1.30 

(s, 6H); 13C NMR (101 MHz, CDCl3) δ 198.6, 143.1, 138.5, 133.9, 130.9, 128.0, 127.7, 41.1, 39.6, 23.8 

(2C), 20.0, 19.3; IR (neat) 1671, 1597, 1368, 1064 cm–1; HRMS (ESI) m/z calcd for C13H17OS [M + H]+: 

221.1000, found: 221.0970. For 3mo: TLC (4% EtOAc/hexanes): Rf = 0.43; 1H NMR (400 MHz, CDCl3) 

δ 7.08 (d, J = 8.0 Hz, 1H), 6.98 (d, J = 8.0 Hz, 1H), 3.00 (s, 2H), 2.35 (s, 3H), 2.25 (s, 3H), 1.32 (s, 6H); 
13C NMR (101 MHz, CDCl3) δ 203.3, 140.4, 138.7, 135.4, 133.2, 132.1, 124.8, 44.7, 40.5, 24.3 (2C), 

20.6, 18.0; IR (neat) 1676 cm–1; HRMS (ESI) m/z calcd for C13H17OS [M + H]+: 221.1000, found: 

221.0992. 

 

 
Rel-(4aS,9aS)-6,7-Dimethoxy-2,3,4,4a-tetrahydro-1H-thioxanthen-9(9aH)-one (3nα) and Rel-

(4aS,9aR)-6,7-Dimethoxy-2,3,4,4a-tetrahydro-1H-thioxanthen-9(9aH)-one (3nβ): 



S34 
 

Following the general procedure C, Rel-(1S,2S)-2-((3,4-dimethoxyphenyl)thio)cyclohexanecarboxylic 

acid] 1n (88.9 mg, 0.300 mmol, 1.0 equiv) was converted to Rel-(1S,2S)-2-((3,4-

dimethoxyphenyl)thio)cyclohexanecarbonyl chloride] 2n with oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 

equiv) in 30 min. The crude acid chloride 2n was dissolved in HFIP (0.75 mL) and the resultant reaction 

mixture was stirred at rt for 3 h. Purification on a Combiflash purification system using a 12 g silica flash 

column (0–20% EtOAc/hexanes over 40 min) afforded a partial separation of 3nα (17.5 mg) and 

remaining as a mixture of 3nα and 3nβ (65.4 mg) as very pale orange viscous oils (combined yield = 82.9 

mg, 99%; 3nα:3nβ = 93:7). For 3nα: TLC (20% EtOAc/hexanes, run twice): Rf = 0.59; 1H NMR (500 MHz, 

CDCl3) δ 7.59 (s, 1H), 6.63 (s, 1H), 3.90 (s, 3H), 3.88 (s, 3H), 3.73 (brs, 1H), 2.82 (m, 1H), 2.24 (m, 1H), 

1.90–1.74 (complex, 3H), 1.65 (m, 1H), 1.57–1.48 (complex, 2H), 1.47–1.40 (m, 1H); 13C NMR (126 

MHz, CDCl3) δ 195.9, 153.9, 147.2, 135.2, 123.0, 110.8, 109.0, 56.4, 56.2, 48.9, 43.2, 29.9, 24.9, 23.9, 

23.2; IR (neat) 1656, 1592 cm–1; HRMS (ESI) m/z calcd for C15H19O3S [M + H]+: 279.1055, found: 

279.1046. For 3nβ: TLC (20% EtOAc/hexanes, run twice): Rf = 0.64; Characteristic peaks only for 3nβ in 

a mixture (3nα:3nβ = ca. 91:9): 1H NMR (400 MHz, CDCl3) δ 7.54 (s, 1H), 6.59 (s, 1H), 3.87 (s, 3H), 3.86 

(s, 3H), 3.31 (td, J = 12.2, 4.0 Hz, 1H); 13C NMR (101 MHz, CDCl3) δ 195.0, 153.6, 135.3, 123.8, 110.9, 

108.6, 51.7, 45.3, 32.2, 26.4, 25.5, 25.4. 

 

 
Anthracen-9(10H)-one (3o):33 

Following the general procedure C, α-phenyl-o-toluic acid 1o (63.6 mg, 0.300 mmol, 1.0 equiv) was 

converted to 2-benzylbenzoyl chloride 2o using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 

min. The crude acid chloride 2o was dissolved in HFIP (0.75 mL) and the resultant reaction mixture was 

stirred at rt for 5 h. Purification on a Combiflash purification system using a silica flash column (90:10 

hexanes/EtOAc) afforded 3o (45.0 mg, 77%) as a colorless solid. 

 

 
10-Methyl-7,8-dihydropyrido[1,2-a]indol-9(6H)-one (3p):34 

Following the general procedure C, 4-(3-methyl-1H-indol-1-yl)butanoic acid 1p (65.0 mg, 0.300 mmol, 

1.0 equiv) was converted to 4-(3-methyl-1H-indol-1-yl)butanoyl chloride 2p using oxalyl chloride (50.8 



S35 
 

µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2p was dissolved in HFIP (0.75 mL) and 

the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system 

using a silica flash column (80:20 hexanes/EtOAc) afforded 3p (43.0 mg, 72%) as a brown solid. 

 

 
12-Methylindolo[1,2-b]isoquinolin-11(6H)-one (3q): 

Following the general procedure C, 2-((3-methyl-1H-indol-1-yl)methyl)benzoic acid 1q (79.6 mg, 0.300 

mmol, 1.0 equiv) was converted to 2-((3-methyl-1H-indol-1-yl)methyl)benzoyl chloride 2q using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 90 min. The crude acid chloride 2q was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash 

purification system using a silica flash column (50:50 hexanes/EtOAc) afforded 3q (54.0 mg, 73%) as a 

yellow solid. Mp: 203–205 °C; TLC (50% EtOAc/Hexanes): Rf = 0.70; 1H NMR (400 MHz, CDCl3) δ 

8.36 (dd, J = 7.9, 1.4 Hz, 1H), 7.79 (dd, J = 8.1, 1.0 Hz, 1H), 7.63 (td, J = 7.5, 1.4 Hz, 1H), 7.56–7.50 (m, 

1H), 7.49–7.41 (m, 3H), 7.25–7.20 (m, 1H), 5.46 (s, 2H), 2.90–2.77 (m, 3H); 13C NMR (101 MHz, 

CDCl3) δ 178.8, 136.8, 136.1 (2C), 133.0, 131.7, 128.2, 128.1, 127.3, 126.3, 126.2, 121.7, 120.8, 120.3, 

110.1, 44.6, 10.5; IR (neat) 1644 cm–1; HRMS (ESI) m/z calcd for C17H14NO [M + H]+: 248.1075, found: 

248.1053. 

 

 
9H-Xanthen-9-one (3r):35 

Following the general procedure C, 2-phenoxybenzoic acid 1r (64.3 mg, 0.300 mmol, 1.0 equiv) was 

converted to 2-phenoxybenzoyl chloride 2r using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 45 

min. The crude acid chloride 2r was dissolved in HFIP (0.75 mL) and the resultant reaction mixture was 

stirred at rt for 4 h. Purification on a Combiflash purification system using a 4 g silica flash column (0–

5% EtOAc/hexanes over 50 min) afforded 3r (45.4 mg, 77%) as a colorless solid. 

 

 



S36 
 

 
1,2,3-Trimethoxy-9H-xanthen-9-one (3s):36 

Following the general procedure C, 2-(3,4,5-trimethoxyphenoxy)benzoic acid 1s (91.0 mg, 0.300 mmol, 

1.0 equiv) was converted to 2-(3,4,5-trimethoxyphenoxy)benzoyl chloride 2s using oxalyl chloride (50.8 

µL, 0.600 mmol, 2.0 equiv) in 60 min. The crude acid chloride 2s was dissolved in HFIP (0.75 mL) and 

the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system 

using a silica flash column (50:50 hexanes/EtOAc) afforded 3s (80.0 mg, 93%) as a colorless solid. Mp: 

125–127 °C; TLC (50% EtOAc/Hexanes): Rf = 0.60; 1H NMR (400 MHz, CDCl3) δ 8.29 (dd, J = 8.0, 1.7 

Hz, 1H), 7.65 (ddd, J = 8.6, 7.1, 1.7 Hz, 1H), 7.41–7.37 (m, 1H), 7.34 (ddd, J = 8.1, 7.1, 1.1 Hz, 1H), 6.74 

(s, 1H), 4.03 (s, 3H), 3.98 (s, 3H), 3.91 (s, 3H); 13C NMR (101 MHz, CDCl3) δ 175.5, 158.9, 155.4, 

154.8, 153.8, 139.8, 134.1, 126.9, 124.0, 122.7, 117.3, 111.1, 96.3, 62.2, 61.7, 56.5; IR (neat) 2946, 1650, 

1598 cm–1; HRMS (ESI) m/z calcd for C16H15O5 [M + H]+: 287.0919, found: 287.0916.  

 

 
2,3-Dimethoxy-9H-thioxanthen-9-one (3t):37 

Following the general procedure C, 2-((3,4-dimethoxyphenyl)thio)benzoic acid 1t (87.1 mg, 0.300 mmol, 

1.0 equiv) was converted to 2-((3,4-dimethoxyphenyl)thio)benzoyl chloride 2t using oxalyl chloride (50.8 

µL, 0.600 mmol, 2.0 equiv) in 60 min. The crude acid chloride 2t was dissolved in HFIP (0.75 mL) and 

the resultant reaction mixture was stirred at rt for 2.5 h. Purification on a Combiflash purification system 

using a 12 g silica flash column (0–40% EtOAc/hexanes over 40 min) afforded 3t (76.3 mg, 93%) as a 

creamish-yellow solid. Mp: 174.5–177.5 °C (lit.37 mp: 172–173 °C); TLC (2% MeOH/DCM): Rf = 0.25; 
1H NMR (400 MHz, CDCl3) δ 8.58 (m, 1H), 7.99 (s, 1H), 7.56–7.48 (m, 2H), 7.43 (m, 1H), 6.84 (s, 1H), 

3.98 (s, 3H), 3.95 (s, 3H); 13C NMR (101 MHz, CDCl3) δ 178.7, 153.5, 148.8, 137.1, 131.7, 131.4, 129.8, 

128.8, 126.2, 125.9, 123.3, 110.2, 106.7, 56.4, 56.3; IR (neat) 1625, 1588 cm–1; HRMS (ESI) m/z calcd 

for C15H13O3S [M + H]+: 273.0585, found: 273.0552. 

 



S37 
 

 
9-Chloro-4-methyl-1H-pyrrolo[3,2,1-de]acridin-6(2H)-one (3u): 

Following the general procedure C, 4-chloro-2-(5-methylindolin-1-yl)benzoic acid (ca. 94% pure) 1u 

(86.3 mg, 0.300 mmol, 1.0 equiv) was converted to 4-chloro-2-(5-methylindolin-1-yl)benzoyl chloride 2u 

using oxalyl chloride (33.0 µL, 0.390 mmol, 1.3 equiv) in 25 min (oxalyl chloride was added over 5 min). 

The crude acid chloride 2u was dissolved in HFIP (0.75 mL) and the resultant reaction mixture was 

stirred at rt for 3 h. Purification on a Combiflash purification system using a 12 g silica flash column (0–

5% MeOH/DCM over 50 min) provided impure 3u as an insoluble yellow fluorescent solid. Trituration of 

impure 3u with CD2Cl2 and filtration under suction (including additional washings by CD2Cl2) afforded 

pure 3u (66.2 mg, 82%) as a bright yellow fluorescent solid (almost insoluble in all solvents). Mp: >240 

°C; TLC (2% MeOH/DCM): Rf = 0.27; 1H NMR (500 MHz, CD2Cl2) δ 8.41 (d, J = 8.7 Hz, 1H), 7.83 (m, 

1H), 7.39 (m, 1H), 7.30 (d, J = 1.9 Hz, 1H), 7.21 (dd, J = 8.7, 1.9 Hz, 1H), 4.49 (dd, J = 8.4, 7.7 Hz, 2H), 

3.57 (t, J = 8.0 Hz, 2H), 2.47 (s, 3H); 13C NMR (126 MHz, CD2Cl2) δ 176.7, 144.1, 140.8, 139.6, 133.1, 

132.5, 130.2, 130.0, 122.3, 121.7, 121.5, 119.1, 114.1, 49.0, 28.1, 21.6; IR (neat) 1627, 1610 cm–1; 

HRMS (ESI) m/z calcd for C16H13ClNO [M + H]+: 270.0686, found: 270.0678. 

 

 
8-Methoxydibenzo[b,e]thiepin-11(6H)-one (3v):14,24  

Following the general procedure C, 2-((3-methoxybenzyl)thio)benzoic acid 1v (82.3 mg, 0.300 mmol, 1.0 

equiv) was converted to 2-((3-methoxybenzyl)thio)benzoyl chloride 2v with oxalyl chloride (50.8 µL, 

0.600 mmol, 2.0 equiv) in 60 min. The crude acid chloride 2v was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 4 h. Purification on a Combiflash purification system using 

a 12 g silica flash column (0–10% EtOAc/hexanes over 50 min) afforded 3v (62.3 mg, 81%) as a 

colorless solid.  

 

 



S38 
 

 
6,7,8,9-Tetrahydro-5H-cyclohepta[4,5]benzo[1,2-d][1,3]dioxol-5-one (3w): 

Following the general procedure C, 5-(benzo[d][1,3]dioxol-5-yl)pentanoic acid 1w (66.7 mg, 0.300 

mmol, 1.0 equiv) was converted to 5-(benzo[d][1,3]dioxol-5-yl)pentanoyl chloride 2w using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2w was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 6 h. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–20% EtOAc/hexanes over 40 min) afforded 3w 

(36.3 mg, 59%) as a pale yellow viscous oil. TLC (30% EtOAc/hexanes): Rf = 0.66; 1H NMR (400 MHz, 

CDCl3) δ 7.26 (s, 1H), 6.63 (s, 1H), 5.97 (s, 2H), 2.84 (m, 2H), 2.68 (m, 2H), 1.86–1.73 (complex, 4H); 
13C NMR (101 MHz, CDCl3) δ 203.9, 151.1, 146.8, 138.4, 132.8, 109.8, 108.8, 101.8, 40.8, 32.7, 25.2, 

20.6; IR (neat) 1660, 1615 cm–1; HRMS (ESI) m/z calcd for C12H13O3 [M + H]+: 205.0865, found: 

205.0844. 

 

 
2,3-Dimethoxy-6,7,8,9-tetrahydro-5H-benzo[7]annulen-5-one (3x):38  

Following the general procedure C, 5-(3,4-dimethoxyphenyl)pentanoic acid 1x (71.4 mg, 0.300 mmol, 

1.0 equiv) was converted to 5-(3,4-dimethoxyphenyl)pentanoyl chloride 2x using oxalyl chloride (50.8 

µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid 2x was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (80:20 hexanes/EtOAc) afforded 3x (37.0 mg, 56%) as a colorless solid. 

 

 
2,4-Dimethoxy-6,7,8,9-tetrahydro-5H-benzo[7]annulen-5-one (3y):  

Following the general procedure C, 5-(3,5-dimethoxyphenyl)pentanoic acid 1y (65.0 mg, 0.300 mmol, 

1.0 equiv) was converted to 5-(3,5-dimethoxyphenyl)pentanoyl chloride 2y using oxalyl chloride (50.8 

µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2y was dissolved in HFIP (0.75 mL) and 

the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system 



S39 
 

using a silica flash column (50:50 hexanes/EtOAc) afforded 3y (40.0 mg, 61%) as a colorless oil. TLC 

(50% EtOAc/Hexanes): Rf = 0.40; 1H NMR (400 MHz, CDCl3) δ 6.36 (d, J = 2.2 Hz, 1H), 6.26 (d, J = 2.2 

Hz, 1H), 3.83 (s, 3H), 3.79 (s, 3H), 2.72 (dd, J = 7.1, 5.4 Hz, 2H), 2.67–2.54 (m, 2H), 1.77 (m, 4H); 13C 

NMR (101 MHz, CDCl3) δ 206.8, 162.4, 158.7, 142.0, 122.6, 105.9, 97.2, 56.2, 55.6, 42.4, 33.1, 25.6, 

22.3; IR (neat) 2935, 1683, 1597 cm–1; HRMS (ESI) m/z calcd for C13H17O3 [M + H]+: 221.1178, found: 

221.1151. 

 

 
4,5,6,7-Tetrahydro-8H-cyclohepta[b]thiophen-8-one (3z):18 

Following the general procedure C, 5-(thiophen-3-yl)pentanoic acid 1z (55.3 mg, 0.300 mmol, 1.0 equiv) 

was converted to 5-(thiophen-3-yl)pentanoyl chloride 2z using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 

equiv) in 30 min. The crude acid chloride 2z was dissolved in HFIP (0.75 mL) and the resultant reaction 

mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using a silica flash 

column (90:10 hexanes/EtOAc) afforded 3z (36.0 mg, 72%) as a colorless oil. 

 

 
7,8,9,10-Tetrahydro-6H-benzo[b]cyclohepta[d]thiophen-6-one (3aa): 

Following the general procedure C, 5-(benzo[b]thiophen-3-yl)pentanoic acid 1aa (70.0 mg, 0.300 mmol, 

1.0 equiv) was converted to 5-(benzo[b]thiophen-3-yl)pentanoyl chloride 2aa using oxalyl chloride (50.8 

µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2aa was dissolved in HFIP (0.75 mL) and 

the resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system 

using a silica flash column (50:50 hexanes/EtOAc) afforded 3aa (44.0 mg, 68%) as an off-white solid. 

Mp: 82–83 °C; TLC (50% EtOAc/Hexanes): Rf = 0.60; 1H NMR (400 MHz, CDCl3) δ 7.89–7.81 (m, 2H), 

7.51–7.37 (m, 2H), 3.26–3.13 (m, 2H), 2.96–2.83 (m, 2H), 2.17–1.94 (m, 4H); 13C NMR (101 MHz, 

CDCl3) δ 197.5, 143.4, 141.7, 141.3, 140.1, 127.6, 124.7, 124.0, 123.2, 42.4, 27.1, 25.7, 21.8; IR (neat) 

1689, 1616 cm–1; HRMS (ESI) m/z calcd for C13H13OS [M + H]+: 217.0687, found: 217.0693. 

 

 



S40 
 

 
6,7,8,9-Tetrahydro-10H-cyclohepta[b]benzofuran-10-one (3ab): 

Following the general procedure C, 5-(benzofuran-2-yl)pentanoic acid 1ab (65.5 mg, 0.300 mmol, 1.0 

equiv) was converted to 5-(benzofuran-2-yl)pentanoyl chloride 2ab using oxalyl chloride (50.8 µL, 0.600 

mmol, 2.0 equiv) in 30 min. The crude acid chloride 2ab was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 5 h. Purification on a Combiflash purification system using 

a silica flash column (50:50 hexanes/EtOAc) afforded 3ab (43.0 mg, 72%) as a colorless solid. Mp: 73–

75 °C; TLC (50% EtOAc/Hexanes): Rf = 0.30; 1H NMR (400 MHz, CDCl3) δ 8.29–8.21 (m, 1H), 7.43–

7.36 (m, 1H), 7.33–7.26 (m, 2H), 3.25–3.15 (m, 2H), 2.91–2.81 (m, 2H), 2.17–2.05 (m, 2H), 2.05–1.95 

(m, 2H); 13C NMR (101 MHz, CDCl3) δ 197.8, 166.3, 154.0, 127.1, 125.0, 124.4, 123.0, 118.3, 110.6, 

45.2, 30.2, 24.9, 22.9; IR (neat) 1638, 1580 cm–1; HRMS (ESI) m/z calcd for C13H13O2 [M + H]+: 

201.0916, found: 201.0912. 

 

 
4,5-Dihydro-6H-cyclopenta[b]thiophen-6-one (3ac):39 

Following the general procedure C, 3-(3-thienyl)propanoic acid 1ac (47.0 mg, 0.300 mmol, 1.0 equiv) 

was converted to 3-(thiophen-3-yl)propanoyl chloride 2ac using oxalyl chloride (38.1 µL, 0.450 mmol, 

1.5 equiv) in 15 min. The crude acid chloride 2ac was dissolved in HFIP (1.5 mL) and the resultant 

reaction mixture was stirred at rt for 16 h. Purification on a Combiflash purification system using a silica 

flash column (90:10 hexanes/EtOAc) afforded 3ac (6.00 mg, 14%) as a colorless solid.  

 

 
4-Methyl-1,2-dihydrocyclopenta[b]indol-3(4H)-one (3ad):40,41 

Following the general procedure C, 3-(1-methyl-1H-indol-3-yl)propanoic acid 1ad (61.0 mg, 0.300 

mmol, 1.0 equiv) was converted to 3-(1-methyl-1H-indol-3-yl)propanoyl chloride 2ad using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2ad was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 4 h. Purification on a Combiflash 



S41 
 

purification system using a 4 g silica flash column (0–30% EtOAc/hexanes over 45 min) afforded 3ad 

(39.3 mg, 71%) as a creamish yellow solid.  

 

 
2,2,9-Trimethyl-2,3-dihydro-1H-pyrrolo[1,2-a]indol-1-one and 1,5,5-Trimethyl-4,5-dihydro-6H-

pyrrolo[3,2,1-ij]quinolin-6-one (3ae2 and 3ae7): 

Following the general procedure C, 2,2-dimethyl-3-(3-methyl-1H-indol-1-yl)propanoic acid 1ae (69.0 

mg, 0.300 mmol, 1.0 equiv) was converted to 2,2-dimethyl-3-(3-methyl-1H-indol-1-yl)propanoyl chloride 

2ae using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2ae was 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 5 h. Purification on a 

Combiflash purification system using a silica flash column (90:10 hexanes/EtOAc) afforded an 

inseparable mixture of 3ae2 and 3ae7 (50.0 mg, 78%, 3ae2:3ae7 = 85:15) as a pale yellow oil. TLC (10% 

EtOAc/Hexanes): Rf = 0.80 (overlapping spots of 3ae2 and 3ae7); 3ae2: 1H NMR (400 MHz, CDCl3) 

7.74–7.70 (m, 1H), 7.37–7.33 (m, 2H), 7.17 (ddd, J = 8.1, 5.7, 2.2 Hz, 1H), 4.15 (s, 2H), 2.58 (s, 3H), 

1.39 (s, 6H). 13C NMR (101 MHz, CDCl3) δ 199.4, 135.3, 132.7, 131.4, 125.4 (2C), 122.3, 120.6, 110.6, 

54.7, 50.3, 24.9 (2C), 9.0. 3ae7: Characteristic peaks only: 1H NMR (400 MHz, CDCl3) 7.77 (dd, J = 7.8, 

0.9 Hz, 1H), 6.94 (d, J = 1.2 Hz, 1H), 4.07 (s, 2H), 2.36 (d, J = 1.1 Hz, 3H), 1.30 (s, 6H). 13C NMR (101 

MHz, CDCl3) δ 128.8, 125.7, 119.9, 119.6, 116.4, 113.2, 55.9, 43.6, 23.8, 9.9. For a mixture of 3ae2 and 

3ae7: IR (neat) 1698, 1568 cm–1; HRMS (ESI) m/z calcd for C14H16NO [M + H]+: 214.1232, found: 

214.1204. 

 

 
11-Methyl-10H-indolo[1,2-a]indol-10-one (3af): 

Following the general procedure C, 2-(3-methyl-1H-indol-1-yl)benzoic acid 1af (75.3 mg, 0.300 mmol, 

1.0 equiv) was converted to 2-(3-methyl-1H-indol-1-yl)benzoyl chloride 2af using oxalyl chloride (33.0 

µL, 0.390 mmol, 1.3 equiv) in 50 min (oxalyl chloride was added over 10 min). The crude acid chloride 

2af was dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 2.5 h. 



S42 
 

Purification on a Combiflash purification system using a 12 g silica flash column (0–15% EtOAc/hexanes 

over 30 min) afforded 3af (60.6 mg, 87%) as an orange-brown solid. Mp: 153–156 °C; TLC (2% 

MeOH/DCM): Rf = 0.62; 1H NMR (400 MHz, CDCl3) δ 7.62 (ddd, J = 7.5, 1.2, 0.58 Hz, 1H), 7.56 (dt, J 

= 8.0, 0.90 Hz, 1H), 7.46 (td, J = 7.8, 1.3 Hz, 1H), 7.43–7.36 (m, 2H), 7.27 (m, 1H), 7.10 (ddd, J = 8.1, 

6.6, 1.5 Hz, 1H), 7.03 (td, J = 7.5, 0.78 Hz, 1H), 2.54 (s, 3H); 13C NMR (101 MHz, CDCl3) δ 182.1, 

145.2, 135.2, 134.4, 133.8, 133.0, 130.1, 128.4, 125.0, 123.4, 123.0, 122.5, 121.5, 111.4, 111.2, 9.5; IR 

(neat) 1678, 1619, 1605, 1473, 1323 cm–1; HRMS (ESI) m/z calcd for C16H12NO [M + H]+: 234.0919, 

found: 234.0901. 

 

 
2,3-Dimethoxy-9H-fluoren-9-one (3agp) and 1,2-Dimethoxy-9H-fluoren-9-one (3ago):42 

Following the general procedure C, 3',4'-dimethoxy-[1,1'-biphenyl]-2-carboxylic acid 1ag (77.5 mg, 

0.300 mmol, 1.0 equiv) was converted to 3',4'-dimethoxy-[1,1'-biphenyl]-2-carbonyl chloride 2ag using 

oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 45 min. The crude acid chloride 2ag was dissolved in 

HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 2.5 h. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–30% EtOAc/hexanes over 30 min) afforded a 

complete separation of 3agp (65.5 mg, 91%) as an orange solid and 3ago (1.50 mg, 2%) as a yellowish-

orange solid (combined yield = 67.0 mg, 93%; 3agp:3ago = 98:2).  

 

 
1-Fluoro-6-isopropoxy-9H-fluoren-9-one (3ahp) and 1-Fluoro-8-isopropoxy-9H-fluoren-9-one 

(3aho): 

Following the general procedure C, 3-fluoro-3'-isopropoxy-[1,1'-biphenyl]-2-carboxylic acid 1ah (82.3 

mg, 0.300 mmol, 1.0 equiv) was converted to 3-fluoro-3'-isopropoxy-[1,1'-biphenyl]-2-carbonyl chloride 

2ah using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 45 min. The crude acid chloride 2ah was 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 3.5 h. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–10% EtOAc/hexanes over 40 min) 

afforded a mixture of 3ahp and 3aho (combined yield = 76.3 mg, 99%; 3ahp:3aho = 76:24) as a yellow 



S43 
 

oily solid. For a mixture of products (3ahp: 3aho = 76:24 by 1H NMR): TLC (15% EtOAc/hexanes): Rf = 

0.39; 1H NMR (400 MHz, CDCl3) δ 7.54 (3ahp; d, J = 8.3 Hz, 1H), 7.41–7.34 (3ahp and 3aho; m, 3H), 

7.22 (3aho; d, J = 7.4 Hz, 1H), 7.20 (3ahp; d, J = 7.3 Hz, 1H), 7.05 (3aho; dd, J = 7.3, 0.60 Hz, 1H), 6.94 

(3ahp; d, J = 2.1 Hz, 1H), 6.89–6.84 (3ahp and 3aho; m, 2H), 6.80 (3aho; d, J = 8.4 Hz, 1H), 6.69 (3ahp; 

dd, J = 8.3, 2.2 Hz, 1H), 4.72–4.59 (3ahp and 3aho; m, 2H), 1.40 (3aho; d, J = 6.1 Hz, 6H), 1.36 (3ahp; d, 

J = 6.1 Hz, 6H); 13C NMR (For 3ahp; 101 MHz, CDCl3) δ 188.9 (d, J = 0.97 Hz, 1C), 164.0, 159.1 (d, J = 

262.4 Hz, 1C), 146.1 (d, J = 3.4 Hz, 1C), 145.6 (d, J = 3.9 Hz, 1C), 136.4 (d, J = 8.4 Hz, 1C), 136.3, 

126.46, 121.1 (d, J = 12.8 Hz, 1C), 117.8 (d, J = 20.9 Hz, 1C), 116.3 (d, J = 3.1 Hz, 1C, completely 

overlapped with 3aho peak), 115.2, 108.7, 70.8, 22.1 (2C); (For 3aho; 101 MHz, CDCl3) δ 188.0 (d, J = 

1.2 Hz, 1C), 159.2 (d, J = 262.8 Hz, 1C), 157.5, 145.6 (1C, overlapped with 3ahp peak), 145.5 (d, J = 3.7 

Hz, 1C), 136.1 (d, J = 8.3 Hz, 1C), 126.54, 121.2, 120.4 (d, J = 12.4 Hz, 1C), 117.5 (d, J = 20.7 Hz, 1C), 

117.3, 116.3 (d, J = 3.1 Hz, 1C, completely overlapped with 3ahp peak), 113.3, 72.2, 22.2 (2C); IR (neat; 

for a mixture of 3ahp and 3aho) 1703, 1619, 1587, 1455, 1211, 1107 cm–1; HRMS (ESI) m/z calcd for 

C16H14FO2 [M + H]+: 257.0978, found for 3ahp: 257.0940 and found for 3aho: 257.0939. 

 

 
1,3-Dimethoxy-9H-fluoren-9-one (3ai):43 

Following the general procedure C, 3',5'-dimethoxy-[1,1'-biphenyl]-2-carboxylic acid 1ai (77.5 mg, 0.300 

mmol, 1.0 equiv) was converted to 3',5'-dimethoxy-[1,1'-biphenyl]-2-carbonyl chloride 2ai using oxalyl 

chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 45 min. The crude acid chloride 2ai was dissolved in HFIP 

(0.75 mL) and the resultant reaction mixture was stirred at rt for 2.5 h. Purification on a Combiflash 

purification system using a 12 g silica flash column (0–50% EtOAc/hexanes over 25 min) afforded 3ai 

(71.5 mg, 99%) as a light yellow solid.  

 

 
6-Chloro-1,3-dimethyl-9H-fluoren-9-one (3aj): 

Following the general procedure C, 5-chloro-3',5'-dimethyl-[1,1'-biphenyl]-2-carboxylic acid 1aj (78.2 

mg, 0.300 mmol, 1.0 equiv) was converted to 5-chloro-3',5'-dimethyl-[1,1'-biphenyl]-2-carbonyl chloride 

2aj using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 45 min. The crude acid chloride 2aj was 



S44 
 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 3 h. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–5% EtOAc/hexanes over 50 min) 

afforded 3aj (70.5 mg, 97%) as a light yellow solid. Mp: 159.5–161 °C; TLC (15% EtOAc/hexanes): Rf = 

0.67; 1H NMR (400 MHz, CDCl3) δ 7.45 (d, J = 7.8 Hz, 1H), 7.31 (d, J = 1.7 Hz, 1H), 7.17 (dd, J = 7.8, 

1.8 Hz, 1H), 7.00 (s, 1H), 6.80 (s, 1H), 2.51 (s, 3H), 2.31 (s, 3H); 13C NMR (101 MHz, CDCl3) δ 193.1, 

145.5, 145.2, 143.9, 140.3, 139.7, 133.3, 133.1, 129.0, 128.8, 124.8, 120.5, 119.2, 22.1, 17.8; IR (neat) 

1701, 1599, 1137, 1062 cm–1; HRMS (ESI) m/z calcd for C15H12ClO [M + H]+: 243.0577, found: 

243.0556. 

 

 
5,7-Dimethoxy-8H-indeno[2,1-b]thiophen-8-one (3ak): 

Following the general procedure C, 3-(3,5-dimethoxyphenyl)thiophene-2-carboxylic acid 1ak (79.3 mg, 

0.300 mmol, 1.0 equiv) was converted to 3-(3,5-dimethoxyphenyl)thiophene-2-carbonyl chloride 2ak 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 60 min. The crude acid chloride 2ak was 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 4 h. Purification on a 

Combiflash purification system using a 12 g silica flash column (0–40% EtOAc/hexanes over 40 min) 

afforded 3ak (53.0 mg, 72%) as a yellowish-orange solid. Mp: 169.5–172 °C (shrink above 150 °C); TLC 

(30% EtOAc/hexanes): Rf = 0.28; 1H NMR (400 MHz, CDCl3) δ 7.57 (d, J = 4.7 Hz, 1H), 7.00 (d, J = 4.7 

Hz, 1H), 6.35 (d, J = 1.9 Hz, 1H), 6.10 (d, J = 1.9 Hz, 1H), 3.89 (s, 3H), 3.82 (s, 3H); 13C NMR (101 

MHz, CDCl3) δ 183.3, 166.8, 159.5, 155.0, 143.6, 139.3, 136.8, 119.9, 115.5, 101.5, 96.5, 56.0, 55.9; IR 

(neat) 1711, 1688, 1616, 1591, 1215, 1130, 1048 cm–1; HRMS (ESI) m/z calcd for C13H11O3S [M + H]+: 

247.0429, found: 247.0399. 

 

 
9H-Fluoren-9-one (3al):44,45 

Following the general procedure C, 1,1'-biphenyl]-2-carboxylic acid 1al (59.5 mg, 0.300 mmol, 1.0 

equiv) was converted to 1,1'-biphenyl]-2-carbonyl chloride 2al using oxalyl chloride (50.8 µL, 0.600 

mmol, 2.0 equiv) in 45 min. The crude acid chloride 2al was dissolved in HFIP (0.75 mL) and the 

resultant reaction mixture was stirred at rt for 4 h. Purification on a Combiflash purification system using 



S45 
 

a 12 g silica flash column (0–5% EtOAc/hexanes over 50 min) afforded 3al (6.50 mg, 12%) as a yellow 

oily solid. 

 

 
6,8-Dimethoxyphenanthren-9-ol (3am): 

Following the general procedure C, 2-(3',5'-dimethoxy-[1,1'-biphenyl]-2-yl)acetic acid 1am (82.0 mg, 

0.300 mmol, 1.0 equiv) was converted to 2-(3',5'-dimethoxy-[1,1'-biphenyl]-2-yl)acetyl chloride 2am 

using oxalyl chloride (50.8 µL, 0.600 mmol, 2.0 equiv) in 30 min. The crude acid chloride 2am was 

dissolved in HFIP (0.75 mL) and the resultant reaction mixture was stirred at rt for 5 h. Purification on a 

Combiflash purification system using a silica flash column (50:50 hexanes/EtOAc) afforded 3am (50.0 

mg, 66%) as a yellow solid. Mp: 143–144 °C; TLC (50% EtOAc/Hexanes): Rf = 0.70; 1H NMR (400 

MHz, CDCl3) δ 9.33 (s, 1H), 8.47–8.39 (m, 1H), 7.73–7.65 (m, 2H), 7.50 (ddd, J = 8.0, 6.9, 1.2 Hz, 1H), 

7.41 (ddd, J = 8.3, 6.9, 1.4 Hz, 1H), 6.97 (s, 1H), 6.71 (d, J = 2.2 Hz, 1H), 4.09 (s, 3H), 4.02 (s, 3H); 13C 

NMR (101 MHz, CDCl3) δ 158.9, 157.8, 152.3, 135.0, 134.5, 127.6, 127.0, 125.0, 123.5, 123.2, 110.9, 

105.7, 98.9, 97.6, 56.7, 55.7; IR (neat) 3327, 1638, 1615 cm–1; HRMS (ESI) m/z calcd for C16H15O3 [M + 

H]+: 255.1021, found: 255.0994. 

 

  



S46 
 

Table S1 | Comparison of Product Yields Obtained from the Present Work (Figure 3) with those 

Previously Reported in the Literature Along with their Corresponding Reaction Conditions.  

entry carboxylic acid product (% yield) time (h) reported yield (conditions)ref 

1 

  

2 

I. 93% (Polyphosphoric acid (PPA), DCM, 
reflux, 2h)25 

II. 97% (1.1 equiv trichloroacetic anhydride, 
70 °C, 6 min)24 

2 

  

5 96% (1.1 equiv SnCl4, DCM, 0 °C, 2 h)26 

3 

  

5 – 

4 

 
 

4 – 

5 

  

3 

I. 85% (H3PO4, Ac2O, 120–140 °C, 3 h)46 
II. 76% (Eaton's reagent, 100 °C, 5 min)47 

III. 62% (1.2 equiv SnCl2, EtOAc, 0 °C to rt, 
3.5 h)28 

6 

  

5 

I. 72% (SOCl2, 1 drop pyridine, 70 °C, 24 h)48 
II. 71% (P2O5, MeSO3H, rt, 90 min)29 

III. 78% (SOCl2, 4 drops pyridine, reflux, 8 
h)49 

7 

  

5 54% (AlCl3, rt, 12 h)50 

8 

  

5 – 

9 

  

5 

I. 81% (H3PO4, P2O5, rt, 24 h)51 
II. 53% (1 mol % Bi[N(SO2CF3)2], p-xylene, 

180 °C, 20 h)52 
III. 98% (10 mol % Eu(OTf)3, 180 °C, 14 h)53 

IV. 87% (H3PO4, P2O5, 100 °C, 2 h)54 



S47 
 

10 

  

5 53% (PPA, 80 °C, 3 h)32 

11 

 

 

4 – 

12 

 
 

3 48% (PPA, 60 °C, 2 h)8 

13 

 

 

3 – 

14 

 

 

3 – 

15 

  

5 

I. >99% (BF3·2CF3CH2OH, DCM, rt)55 
II. 90% (1.5 equiv POCl3, reflux, 30 min)56 

III. 92% (Nafion-H, m-dichlorobenzene, 
reflux, 3 h)57  



S48 
 

16 

  

5 
I. 60% (PPA, 90°C, 1 h)58  
II. 96% (PPA, 90°C, 1 h)10 

17 

  

5 – 

18 

  

4 

I. 99% (7.5 equiv AlCl3, 8.5 equiv NaCl, 200 
°C, 25 min)59 

II. 67% (H2SO4, 100 °C, 3 h)35 
 

19 

 
 

5 
92% (MeSO3H, 4.0 equiv P2O5, rt, 18 h)36 

 

20 

  

2.5 
Reaction of ethyl ester of 1t in PPA at 100 °C 

for 1 h gave the same yield.37 

21d 

  

3 – 

22 

  

4 
I. 70% (1.1 equiv trichloroacetic anhydride, 70 

°C, 6 h)24 
II. 72% (SnCl4, benzene, 0 °C, 25 min)14 

23 

  

6 – 

24 

  

5 80% (PCl5, SnCl4, CS2, reflux, 35 h)60 

25 

  

5 – 



S49 
 

26 

  

5 – 

27 

  

5 – 

28 

  

5 – 

29 
  

16 
I. 30% (MeSO3H, P2O5, rt, 1 h)61 

II. 54% (MeSO3H, P2O5, rt, 40 min)62 
III. 44% (HF, 30 °C, 12 h)63 

30 

  

4 
I. 76% (PPA, toluene, reflux, 4 h)41 
II. 95% (PPA, toluene, reflux, 4 h)40 

31 

 

 

5 – 

32 

  

2.5 – 



S50 
 

33 

 

 

2.5 
For 3agp: 94% (7.0 equiv trifluoroacetic 

anhydride, CHCl3, rt, 30 min)42 

34 

 

 

3.5 – 

35 

  

2.5 
86% (trifluoroacetic anhydride/CHCl3 (1:3), rt, 

30 min)43 

36 

  

3 – 

37 

  

4 – 

38 

  

4 
I. 100% (7.5 equiv AlCl3, 8.5 equiv NaCl, 

180–190 °C, 20 min)59 
II. 99% (PPA, 120 °C, 2 h)64 

39 

  

5 – 



S51 
 

References 

1 Yilmaz, S. & Goksu, S. First synthesis of dopamine and rotigotine analogue 2-amino-6,8-

dimethoxy-1,2,3,4-tetrahydronaphthalene. Synth. Commun. 44, 1058–1065 (2014). 

2 Giles, R. G. F., Rickards, R. W. & Senanayake, B. S. Synthesis of isochroman-3-ylacetates and 

isochromane-γ-lactones through rearrangement of aryldioxolanylacetates. J. Chem. Soc., Perkin 

Trans. 1, 3949–3956 (1998). 

3 Jellimann, C. et al. Synthesis of phenalene and acenaphthene derivatives as new conformationally 

restricted ligands for melatonin receptors. J. Med. Chem. 43, 4051–4062 (2000). 

4 Shcherbakova, I. et al. Preparation of pyridazinone derivatives as calcilytics. WO2007044796A2 

(2007). 

5 Horaguchi, T., Kubo, T., Tanemura, K. & Suzuki, T. Synthesis and properties of 

cyclohepta[cd]benzothiophenes. J. Heterocycl. Chem. 35, 649–653 (1998). 

6 Gore, V. et al. 5-Oxo-ETE receptor antagonists. J. Med. Chem. 56, 3725–3732 (2013). 

7 Al-Awadi, S. A. et al. Kinetics and mechanism of thermal gas-phase elimination of β-substituted 

carboxylic acids. Tetrahedron 61, 5769–5777 (2005). 

8 Song, J. et al. Synthesis and biochemical evaluation of thiochromanone thiosemicarbazone 

analogues as inhibitors of cathepsin L. ACS Med. Chem. Lett. 3, 450–453 (2012). 

9 Gao, S., Tseng, C., Tsai, C. H. & Yao, C.-F. Fluoride ion-catalyzed conjugate addition for easy 

synthesis of 3-sulfanylpropionic acid from thiol and α,β-unsaturated carboxylic acid. Tetrahedron 

64, 1955–1961 (2008). 

10 Jirkovsky, I., Santroch, G., Baudy, R. & Oshiro, G. Octahydropyrazino [2', 3': 3, 4] pyrido [1, 2-

a] indoles. A new class of potent antihypertensive agents. J. Med. Chem. 30, 388–394 (1987). 

11 Goodell, J. R., Puig-Basagoiti, F., Forshey, B. M., Shi, P.-Y. & Ferguson, D. M. Identification of 

compounds with anti-West Nile virus activity. J. Med. Chem. 49, 2127–2137 (2006). 

12 Jilek, J. et al. Potential antidepressants: 2-(methoxy- and hydroxyphenylthio)benzylamines as 

selective inhibitors of 5-hydroxytryptamine re-uptake in the brain. Collect. Czech. Chem. 

Commun. 54, 3294–3338 (1989). 

13 Khan, S., Bernad, P. L., Korshun, V. A., Southern, E. M. & Shchepinov, M. S. Synthesis of S-

pixyl derivatives for mass spectrometric applications. Synlett 2005, 2453–2456 (2005). 

14 Crenshaw, R. R., Jeffries, A. T., Luke, G. M., Cheney, L. C. & Bialy, G. Potential antifertility 

agents. 1. Substituted diaryl derivatives of benzo[b]thiophenes, benzo[b]furans, 1H-2-

benzothiapyrans, and 2H-1-benzothiapyrans. J. Med. Chem. 14, 1185–1190 (1971). 

15 Sondengam, B. L., Fomum, Z. T., Charles, G. & Akam, T. M. A convenient reduction of 

activated olefins by zinc-copper couple. J. Chem. Soc., Perkin Trans. 1, 1219–1221 (1983). 



S52 
 

16 Magrioti, V. et al. New potent and selective polyfluoroalkyl ketone inhibitors of GVIA calcium-

independent phospholipase A2. Biorg. Med. Chem. 21, 5823–5829 (2013). 

17 Jamie, J. F. & Rickards, R. W. Radical-mediated cyclization of ω-aryl-β-dicarbonyl compounds 

to tetrahydrobenzocyclohepten-6-ones, hexahydrobenzocycloocten-6-ones and naphthalen-2(1H)-

ones. J. Chem. Soc., Perkin Trans. 1, 3613–3622 (1997). 

18 Lazzari, P., Zanda, M. & Sani, M. Preparation of 

propandiylbisphenyldihydrothienocyclopentapyrazolcarboxamide derivatives and analogs for use 

as antiangiogenic agents. EP2789619A1 (2014). 

19 Tan, C. K., Zhou, L. & Yeung, Y.-Y. Aminothiocarbamate-catalyzed asymmetric 

bromolactonization of 1, 2-disubstituted olefinic acids. Org. Lett. 13, 2738–2741 (2011). 

20 Ercolani, C. et al. Preparation of tetracyclic indole derivatives as antiviral agents for hepatitis C. 

WO2006046039A2 (2006). 

21 Jeffs, P. W., Archie, W. C., Hawks, R. L. & Farrier, D. S. Sceletium alkaloids. IV. Biosynthesis 

of mesembrine and related alkaloids. Amino acid precursors. J. Am. Chem. Soc. 93, 3752–3758 

(1971). 

22 Houpis, I. N. et al. Carboxylate directed cross-coupling reactions in the synthesis of trisubstituted 

benzoic acids. Org. Lett. 10, 5601–5604 (2008). 

23 Wang, Y., Gulevich, A. V. & Gevorgyan, V. General and practical carboxyl-group-directed 

remote C–H oxygenation reactions of arenes. Chemistry – A European Journal 19, 15836–15840 

(2013). 

24 Andrews, B. et al. Solvent-free Friedel–Crafts cyclization with trichloroacetic anhydride. Synth. 

Commun. 39, 2664–2673 (2009). 

25 Liao, S.-R. et al. 12-N-Methylated 5,6-dihydrobenzo[c]acridine derivatives: A new class of 

highly selective ligands for c-myc G-quadruplex DNA. Eur. J. Med. Chem. 53, 52–63 (2012). 

26 Kamada, A. et al. A new series of estrogen receptor modulators: Effect of alkyl substituents on 

receptor-binding affinity. Chem. Pharm. Bull. 52, 79–88 (2004). 

27 Doering, W. v. E. & Keliher, E. J. Effect of deuterium on the kinetics of 1, 5-hydrogen shifts: 5-

Dideuteriomethylene-2, 4, 6, 7, 9-pentamethyl-11, 11a-dihydro-12H-naphthacene. J. Am. Chem. 

Soc. 129, 2488–2495 (2007). 

28 Harel, D., Schepmann, D. & Wünsch, B. New combination of pharmacophoric elements of potent 

σ1 ligands: Design, synthesis and σ receptor affinity of aminoethyl substituted 

tetrahydrobenzothiophenes. Eur. J. Med. Chem. 69, 490–497 (2013). 

29 Varney, M. D., Romines, W. H., Palmer, C. L. & Deal, J. G. Preparation of antiproliferative 

substituted 5-thiapyrimidinone and 5-selenopyrimidinone compounds. US5739141A (1998). 



S53 
 

30 Pirrung, M. C., Zhang, J., Lackey, K., Sternbach, D. D. & Brown, F. Reactions of a cyclic 

rhodium carbenoid with aromatic compounds and vinyl ethers. J. Org. Chem. 60, 2112–2124 

(1995). 

31 Prebil, R., Stavber, G. & Stavber, S. Aerobic oxidation of alcohols by using a completely metal-

free catalytic system. Eur. J. Org. Chem. 2014, 395–402 (2014). 

32 Watanabe, S., Nakazumi, H., Akagi, N., Maeda, K. & Kitao, T. Synthesis and absorption spectra 

of 2-substituted 5,8-dimethoxy-4H-1-benzothiopyran-4-one 1,1-dioxides. J. Heterocycl. Chem. 

27, 1241–1244 (1990). 

33 Jin, C., Zhang, L. & Su, W. Direct Benzylic oxidation with sodium hypochlorite using a new 

efficient catalytic system: TEMPO/Co(OAc)2. Synlett 2011, 1435–1438 (2011). 

34 Li, G., Huang, X. & Zhang, L. Platinum-catalyzed formation of cyclic-ketone-fused indoles from 

N-(2-alkynylphenyl)lactams. Angew. Chem. Int. Ed. 47, 346–349 (2008). 

35 Giri, R. et al. Synthesis and cancer cell cytotoxicity of substituted xanthenes. Bioorg. Med. Chem. 

18, 1456–1463 (2010). 

36 Sawyer, J. S., Schmittling, E. A., Palkowitz, J. A. & Smith, W. J., III. Synthesis of diaryl ethers, 

diaryl thioethers, and diaryl amines mediated by potassium fluoride-alumina and 18-crown-6: 

Expansion of scope and utility. J. Org. Chem. 63, 6338–6343 (1998). 

37 Catsoulacos, P. The conversion of thioxanth-10-one 5,5-dioxide oxime acetates to amines by 

means of diborane reduction. J. Heterocycl. Chem. 4, 645–646 (1967). 

38 Fillion, E., Fishlock, D., Wilsily, A. & Goll, J. M. Meldrum's acids as acylating agents in the 

catalytic intramolecular Friedel−Crafts reaction. J. Org. Chem. 70, 1316–1327 (2005). 

39 Yamabe, H., Mizuno, A., Kusama, H. & Iwasawa, N. Rh(I)-catalyzed cyclization of 1-arylprop-2-

yn-1-ol derivatives utilizing rhodium 1,4-migration. J. Am. Chem. Soc. 127, 3248–3249 (2005). 

40 Maertens, F., Van den Bogaert, A., Compernolle, F. & Hoornaert, Georges J. Intramolecular 

Ritter reactions of 2-(2-cyanoethyl)tetrahydrocyclopenta[b]indole and -carbazole derivatives. 

Eur. J. Org. Chem. 2004, 4648–4656 (2004). 

41 Prandi, C. et al. New potent fluorescent analogues of strigolactones: Synthesis and biological 

activity in parasitic weed germination and fungal branching. Eur. J. Org. Chem. 2011, 3781–3793 

(2011). 

42 Ciske, F. L. & Jones Jr, W. D. An efficient synthesis of dihydroxyfluorenones via in situ Pd(0)-

catalyzed cross-coupling. Synthesis 1998, 1195–1198 (1998). 

43 Nakano, J. U. N., Katagiri, N. & Kato, T. Studies on ketene and its derivatives. CX. Synthesis of 

1, 3-dimethoxyfluoren-9-ones. Chem. Pharm. Bull. 30, 2590–2594 (1982). 



S54 
 

44 Thirunavukkarasu, V. S. & Cheng, C.-H. Pd-catalyzed multiple C–H functionalization to 

construct biologically active compounds from aryl aldoxime ethers with arenes. Chem. Eur. J. 17, 

14723–14726 (2011). 

45 Wang, G.-Z., Li, X.-L., Dai, J.-J. & Xu, H.-J. AIBN-catalyzed oxidative cleavage of gem-

disubstituted alkenes with O2 as an oxidant. J. Org. Chem. 79, 7220–7225 (2014). 

46 Acheson, R. M. & Cooper, M. W. The synthesis of thiophenium and of oxazolium salts from 

diazoketones. J. Chem. Soc., Perkin Trans. 1, 1185–1193 (1980). 

47 Razavi, A., Voskoboynikov, A. Z., Valeryevich, I. V. & Sergeevich, K. D. Synthesis of 

substituted tetrahydroindenyl complexes, metallocenes produced therefrom and use of the 

metallocenes in polymerisation processes. WO2010077163 A1 (2010). 

48 Molino, B. F. et al. Aryl- and heteroaryl-substituted tetrahydroisoquinolines and their preparation, 

pharmaceutical compositions and use thereof to block reuptake of norepinephrine, dopamine, and 

serotonin for the treatment of neurological and psychological disorders. WO2006020049A2 

(2006). 

49 Macdowell, D. W. H. & Greenwood, T. D. A synthesis of 7-substituted benzo[b]thiophene 

derivatives. J. Heterocycl. Chem. 2, 44–48 (1965). 

50 Buu, H. & Cagniant, P. Condensed aromatic nuclei. XI. Chemistry of thianaphthene and 

dibenzothiophene. Ber. Dtsch. Chem. Ges. B 76B, 1269–1274 (1943). 

51 Hu, C. et al. Synthesis and anti-platelet aggregation activity of Mannich base derivatives of 4-

chromanones. Jingxi Huagong Zhongjianti 40, 18–21 (2010). 

52 Shimada, S. & Choi, D.-h. Preparation of 4-(thio)chromanones from 3-phenoxy- or 3-

phenylthiopropionic acids. JP2004189695A (2004). 

53 Cui, D.-M., Kawamura, M., Shimada, S., Hayashi, T. & Tanaka, M. Synthesis of 1-tetralones by 

intramolecular Friedel–Crafts reaction of 4-arylbutyric acids using Lewis acid catalysts. 

Tetrahedron Lett. 44, 4007–4010 (2003). 

54 Loudon, J. & Razdan, R. Rearrangements of chromanones and dihydrocoumarins by aluminium 

chloride. J. Chem. Soc., 4299–4303 (1954). 

55 Prakash, G. S. et al. BF3·2CF3CH2OH (BF3·2TFE), an efficient superacidic catalyst for some 

organic synthetic transformations. J. Org. Chem. 71, 3952–3958 (2006). 

56 El-Sayrafi, S. & Rayyan, S. Intramolecular acylation of aryl-and aroyl-aliphatic acids by the 

action of pyrophosphoryl chloride and phosphorus oxychloride. Molecules 6, 279–286 (2001). 

57 Olah, G. A., Mathew, T., Farnia, M. & Prakash, G. K. S. Nafion-H catalysed intramolecular 

Friedel-Crafts acylation: Formation of cyclic ketones and related heterocycles. Synlett 1999, 

1067–1068 (1999). 



S55 
 

58 Baranova, O. V., Zhidkov, M. E. & Dubovitskii, S. V. The first synthesis of the 

benzo[b]indolo[1,2-h][1,7]naphthyridine ring system. Tetrahedron Lett. 52, 2397–2398 (2011). 

59 Wade, L. G., Acker, K. J., Earl, R. A. & Osteryoung, R. A. Cyclodehydration reactions using 

molten sodium tetrachloroaluminate. J. Org. Chem. 44, 3724–3725 (1979). 

60 Barltrop, J., Johnson, A. & Meakins, G. 37. 4-Hydroxy-2′: 3′-dimethoxybenz cyclo heptatrien-3-

one, and related topics. J. Chem. Soc., 181–185 (1951). 

61 Augeri, D. J. et al. Preparation of substituted benzenesulfonamides as Mst1 kinase inhibitors. 

US20120225857A1 (2012). 

62 Bonini, B. F. et al. Diastereoselective synthesis of thieno [3′, 2′: 4, 5] cyclopenta [1, 2-d][1, 3] 

oxazolines – New ligands for the copper-catalyzed asymmetric conjugate addition of diethylzinc 

to enones. Eur. J. Org. Chem. 2004, 4442–4451 (2004). 

63 Sam, J. & Thompson, A. C. Thiaindanones. Thiophene isosteres of indanone. J. Pharm. Sci. 52, 

898–901 (1963). 

64 Metz, G. Intramolekulare acylierungen in polyphosphorsäure. Vereinfachte herstellung cyclischer 

ketone. Synthesis 1972, 612–614 (1972). 

  



S56 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

1H and 13C Spectra of Acid Precursors 

 

 

  



S57 
 

 

 



S58 
 

 

 



S59 
 

 

 



S60 
 

 



S61 
 

 



S62 
 

 



S63 
 

 



S64 
 

 

 



S65 
 

 

 



S66 
 

 

 



S67 
 

 

 



S68 
 

 

 



S69 
 

 

 



S70 
 

 

 



S71 
 

 

 



S72 
 

 

 



S73 
 

 

 



S74 
 

 

 



S75 
 

 

 



S76 
 

 

 



S77 
 

 

 



S78 
 

 

 



S79 
 

 

 



S80 
 

 

 



S81 
 

 

 



S82 
 

 

 



S83 
 

 

 



S84 
 

 

 



S85 
 

 

 



S86 
 

 

 



S87 
 

 

 



S88 
 

 

 



S89 
 

 

 



S90 
 

 

 



S91 
 

  



S92 
 

 

 

 

 

 

 

 

 

 

 

 

 

1H and 13C Spectra of Newly Reported Ketones 

 

 

  



S93 
 

 

 



S94 
 

 

 



S95 
 

 

 



S96 
 

 

 



S97 
 

 

 



S98 
 

 

 



S99 
 

 

 



S100 
 

 

 



S101 
 

 

 



S102 
 

 

 



S103 
 

 

 



S104 
 

 

 



S105 
 

 

 



S106 
 

 

 



S107 
 

 

 



S108 
 

 

 



S109 
 

 

 



S110 
 

 

 



S111 
 

 

 



S112 
 

 

 



S113 
 

 

 



S114 
 

 

 



S115 
 

 

 



S116 
 

 

 



S117 
 

 

 



S118 
 

 

 

 

 

 

 

 

 

 

 

1H and 13C Spectra of Previously Reported Ketones 

  



S119 
 

 

 



S120 
 

 

 



S121 
 

 



S122 
 

 

 



S123 
 

 

 



S124 
 

 

 



S125 
 

 

 



S126 
 

 

 



S127 
 

 



S128 
 

 

 



S129 
 

 

 



S130 
 

 

 



S131 
 

 

 



S132 
 

 



S133 
 

 

 



S134 
 

 

 



S135 
 

 

 



S136 
 

 


